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The passage below is accompanied by four questions. Based on the passage, choose the best
answer for each question.

For early postcolonial literature, the world of the novel was often the nation. Postcolonial
novels were usually [concerned with] national questions. Sometimes the whole story of the
novel was taken as an allegory of the nation, whether India or Tanzania. This was important
for supporting anti-colonial nationalism, but could also be limiting — land-focused and inward
looking.

My new book “Writing Ocean Worlds” explores another kind of world of the novel: not the
village or nation, but the Indian Ocean world. The book describes a set of novels in which the
Indian Ocean is at the centre of the story. It focuses on the novelists Amitav Ghosh, Abdulrazak
Gurnah, Lindsey Collen and Joseph Conrad [who have] centred the Indian Ocean world in the
majority of their novels. . . . Their work reveals a world that is outward-looking — full of
movement, border-crossing and south-south interconnection. They are all very different — from
colonially inclined (Conrad) to radically anti-capitalist (Collen), but together draw on and
shape a wider sense of Indian Ocean space through themes, images, metaphors and language.
This has the effect of remapping the world in the reader’s mind, as centred in the interconnected
global south. . . .

The Indian Ocean world is a term used to describe the very long-lasting connections among
the coasts of East Africa, the Arab coasts, and South and East Asia. These connections were
made possible by the geography of the Indian Ocean. For much of history, travel by sea was
much easier than by land, which meant that port cities very far apart were often more easily
connected to each other than to much closer inland cities. Historical and archaeological
evidence suggests that what we now call globalisation first appeared in the Indian Ocean. This
is the interconnected oceanic world referenced and produced by the novels in my book. .

For their part Ghosh, Gurnah, Collen and even Conrad reference a different set of histories and
geographies than the ones most commonly found in fiction in English. Those [commonly found
ones] are mostly centred in Europe or the US, assume a background of Christianity and
whiteness, and mention places like Paris and New York. The novels in [my] book highlight
instead a largely Islamic space, feature characters of colour and centralise the ports of Malindi,
Mombasa, Aden, Java and Bombay. . . . It is a densely imagined, richly sensory image of a
southern cosmopolitan culture which provides for an enlarged sense of place in the world.

This remapping is particularly powerful for the representation of Aftrica. In the fiction, sailors
and travellers are not all European. . . . African, as well as Indian and Arab characters, are
traders, nakhodas (dhow ship captains), runaways, villains, missionaries and activists. This
does not mean that Indian Ocean Africa is romanticised. Migration is often a matter of force;
travel is portrayed as abandonment rather than adventure, freedoms are kept from women and
slavery is rife. What it does mean is that the African part of the Indian Ocean world plays an
active role in its long, rich history and therefore in that of the wider world.




QUANTIFIERS CAT ACADEMY

Q.1) On the basis of the nature of the relationship between the items in each pair below, choose
the odd pair out:

[A] Postcolonial novels : Anti-colonial nationalism

[B] Indian Ocean novels : Outward-looking

[C] Indian Ocean world : Slavery

[D] ostcolonial novels : Border-crossing

Q.2) All of the following statements, if true, would weaken the passage's claim about the
relationship between mainstream English-language fiction and Indian Ocean novels EXCEPT:
[A] the depiction of Africa in most Indian Ocean novels is driven by a postcolonial nostalgia
for an idyllic past.

[B] most mainstream English-language novels have historically privileged the Christian, white,
male experience of travel and adventure

[C] the depiction of Africa in most Indian Ocean novels is driven by an Orientalist imagination
of its cultural crudeness

[D] very few mainstream English-language novels have historically been set in American and
European metropolitan centres

Q.3) Which one of the following statements is not true about migration in the Indian Ocean
world?

[A] The Indian Ocean world's migration networks were shaped by religious and commercial
histories of the region

[B] Migration in the Indian Ocean world was an ambivalent experience

[C] Migration in the Indian Ocean world was an ambivalent experience

[D] The Indian Ocean world's migration networks connected the global north with the global
south

Q.4) All of the following claims contribute to the "remapping" discussed by the passage,
EXCEPT:

[A] the global south, as opposed to the global north, was the first centre of globalisation

[B] cosmopolitanism originated in the West and travelled to the East through globalisation
[C] Indian Ocean novels have gone beyond the specifics of national concerns to explore rich
regional pasts

[D] the world of early international trade and commerce was not the sole domain of white
Europeans

The passage below is accompanied by four questions. Based on the passage, choose the
best answer for each question.

Many human phenomena and characteristics — such as behaviors, beliefs, economies, genes,
incomes, life expectancies, and other things — are influenced both by geographic factors and by
non-geographic factors. Geographic factors mean physical and biological factors tied to
geographic location, including climate, the distributions of wild plant and animal species, soils,
and topography. Non-geographic factors include those factors subsumed under the term
culture, other factors subsumed under the term history, and decisions by individual people. . .
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[T]he differences between the current economies of North and South Korea . . . cannot be
attributed to the modest environmental differences between [them] . . . They are instead due
entirely to the different [government] policies . . . At the opposite extreme, the Inuit and other
traditional peoples living north of the Arctic Circle developed warm fur clothes but no
agriculture, while equatorial lowland peoples around the world never developed warm fur
clothes but often did develop agriculture. The explanation is straightforwardly geographic,
rather than a cultural or historical quirk unrelated to geography. . . . Aboriginal Australia
remained the sole continent occupied only by hunter/gatherers and with no indigenous farming
or herding . . . [Here the] explanation is biogeographic: the Australian continent has no
domesticable native animal species and few domesticable native plant species. Instead, the
crops and domestic animals that now make Australia a food and wool exporter are all non-
native (mainly Eurasian) species such as sheep, wheat, and grapes, brought to Australia by
overseas colonists.

Today, no scholar would be silly enough to deny that culture, history, and individual choices
play a big role in many human phenomena. Scholars don’t react to cultural, historical, and
individual-agent explanations by denouncing “cultural determinism,” “historical
determinism,” or “individual determinism,” and then thinking no further. But many scholars
do react to any explanation invoking some geographic role, by denouncing “geographic
determinism” . . .

Several reasons may underlie this widespread but nonsensical view. One reason is that some
geographic explanations advanced a century ago were racist, thereby causing all geographic
explanations to become tainted by racist associations in the minds of many scholars other than
geographers. But many genetic, historical, psychological, and anthropological explanations
advanced a century ago were also racist, yet the validity of newer non-racist genetic etc.
explanations is widely accepted today.

Another reason for reflex rejection of geographic explanations is that historians have a
tradition, in their discipline, of stressing the role of contingency (a favorite word among
historians) based on individual decisions and chance. Often that view is warranted . . . But
often, too, that view is unwarranted. The development of warm fur clothes among the Inuit
living north of the Arctic Circle was not because one influential Inuit leader persuaded other
Inuit in 1783 to adopt warm fur clothes, for no good environmental reason.

A third reason is that geographic explanations usually depend on detailed technical facts of
geography and other fields of scholarship . . . Most historians and economists don’t acquire
that detailed knowledge as part of the professional training

Q.5) The examples of the Inuit and Aboriginal Australians are offered in the passage to show:
[A] that despite geographical isolation, traditional societies were self-sufficient and adaptive
[B] how physical circumstances can dictate human behaviour and cultures.

[C] that despite geographical isolation, traditional societies were self-sufficient and adaptive.
[D] how physical circumstances can dictate human behaviour and cultures.

Q.6) All of the following can be inferred from the passage EXCEPT:
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[A] several academic studies of human phenomena in the past involved racist interpretations
[B] agricultural practices changed drastically in the Australian continent after it was colonised
[C] individual dictat and contingency were not the causal factors for the use of fur clothing in
some very cold climates

[D] while most human phenomena result from culture and individual choice, some have
biogeographic origins.

Q.7) All of the following are advanced by the author as reasons why non-geographers disregard
geographic influences on human phenomena EXCEPT their:

[A] belief in the central role of humans, unrelated to physical surroundings, in influencing
phenomena

[B] dismissal of explanations that involve geographical causes for human behaviour

[C] lingering impressions of past geographic analyses that were politically offensive

[D] disciplinary training which typically does not include technical knowledge of geography

Q.8) The author criticises scholars who are not geographers for all of the following reasons
EXCEPT:

[A] the importance they place on the role of individual decisions when studying human
phenomena

[B] their outdated interpretations of past cultural and historical phenomena

[C] their labelling of geographic explanations as deterministic.

[D] their rejection of the role of biogeographic factors in social and cultural phenomena.

The passage below is accompanied by four questions. Based on the passage, choose the
best answer for each question

[Fifty] years after its publication in English [in 1972], and just a year since [Marshall] Sahlins
himself died—we may ask: why did [his essay] “Original Affluent Society” have such an
impact, and how has it fared since? . . . Sahlins’s principal argument was simple but
counterintuitive: before being driven into marginal environments by colonial powers,
huntergatherers, or foragers, were not engaged in a desperate struggle for meager survival.
Quite the contrary, they satisfied their needs with far less work than people in agricultural and
industrial societies, leaving them more time to use as they wished. Hunters, he quipped, keep
bankers’ hours. Refusing to maximize, many were “more concerned with games of chance than
with chances of game.” . . . The so-called Neolithic Revolution, rather than improving life,
imposed a harsher work regime and set in motion the long history of growing inequality . . .

Moreover, foragers had other options. The contemporary Hadza of Tanzania, who had long
been surrounded by farmers, knew they had alternatives and rejected them. To Sahlins, this
showed that foragers are not simply examples of human diversity or victimhood but something
more profound: they demonstrated that societies make real choices. Culture, a way of living
oriented around a distinctive set of values, manifests a fundamental principle of collective self-
determination. . . .
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But the point [of the essay] is not so much the empirical validity of the data—the real interest
for most readers, after all, is not in foragers either today or in the Paleolithic—but rather its
conceptual challenge to contemporary economic life and bourgeois individualism. The
empirical served a philosophical and political project, a thought experiment and stimulus to the
imagination of possibilities.

With its title’s nod toward The Affluent Society (1958), economist John Kenneth Galbraith’s
famously skeptical portrait of America’s postwar prosperity and inequality, and dripping with
New Left contempt for consumerism, “The Original Affluent Society” brought this critical
perspective to bear on the contemporary world. It did so through the classic anthropological
move of showing that radical alternatives to the readers’ lives really exist. If the capitalist world
seeks wealth through ever greater material production to meet infinitely expansive desires,
foraging societies follow “the Zen road to affluence”: not by getting more, but by wanting less.
If it seems that foragers have been left behind by “progress,” this is due only to the ethnocentric
self-congratulation of the West. Rather than accumulate material goods, these societies are
guided by other values: leisure, mobility, and above all, freedom. . . .

Viewed in today’s context, of course, not every aspect of the essay has aged well. While
acknowledging the violence of colonialism, racism, and dispossession, it does not thematize
them as heavily as we might today. Rebuking evolutionary anthropologists for treating present-
day foragers as “left behind” by progress, it too can succumb to the temptation to use them as
proxies for the Paleolithic. Yet these characteristics should not distract us from appreciating
Sahlins’s effort to show that if we want to conjure new possibilities, we need to learn about
actually inhabitable worlds.

Q.9) We can infer that Sahlins's main goal in writing his essay was to:

[A] hold a mirror to an acquisitive society, with examples of other communities that have
chosen successfully to be non-materialistic.

[B] highlight the fact that while we started off as a fairly contented egalitarian people, we have
progressively degenerated into materialism

[C] counter Galbraith's pessimistic view of the inevitability of a capitalist trajectory for
economic growth

[D] put forth the view that, despite egalitarian origins, economic progress brings greater
inequality and social hierarchies

Q.10) The author of the passage criticises Sahlins's essay for its:

[A] cursory treatment of the effects of racism and colonialism on societies.

[B] failure to supplement its thesis with robust empirical data.

[C] outdated values regarding present-day foragers versus ancient foraging communities.
[D] critique of anthropologists who disparage the choices of foragers in today's society.

Q.11) The author of the passage mentions Galbraith's "The Affluent Society" to:

[A] document the influence of Galbraith's cynical views on modern consumerism on Sahlins's
analysis of pre-historic societies.
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[B] show how Galbraith's theories refute Sahlins's thesis on the contentment of
prehuntergatherer communities

[C] show how Sahlins's views complemented Galbraith's criticism of the consumerism and
inequality of contemporary society

[D] contrast the materialist nature of contemporary growth paths with the pacifist content ways
of living among the foragers.

Q.12) The author mentions Tanzania's Hadza community to illustrate:

[A] how two vastly different ways of living and working were able to coexist in proximity for
centuries

[B] how pre-agrarian societies did not hamper the emergence of more advanced agrarian
practices in contiguous communities

[C] that forager communities' lifestyles derived not from ignorance about alternatives, but from
their own choice

[D] that hunter-gatherer communities' subsistence-level techniques equipped them to survive
well into contemporary times.

The passage below is accompanied by four questions. Based on the passage, choose the
best answer for each question

RESIDENTS of Lozére, a hilly department in southern France, recite complaints familiar to
many rural corners of Europe. In remote hamlets and villages, with names such as Le Bacon
and Le Bacon Vieux, mayors grumble about a lack of local schools, jobs, or phone and internet
connections. Farmers of grazing animals add another concern: the return of wolves. Eradicated
from France last century, the predators are gradually creeping back to more forests and
hillsides. “The wolf must be taken in hand,” said an aspiring parliamentarian, Francis Palombi,
when pressed by voters in an election campaign early this summer. Tourists enjoy visiting a
wolf park in Lozére, but farmers fret over their livestock and their livelihoods. . . .

As early as the ninth century, the royal office of the Luparii—wolf-catchers—was created in
France to tackle the predators. Those official hunters (and others) completed their job in the
1930s, when the last wolf disappeared from the mainland. Active hunting and improved
technology such as rifles in the 19th century, plus the use of poison such as strychnine later on,
caused the population collapse. But in the early 1990s the animals reappeared. They crossed
the Alps from Italy, upsetting sheep farmers on the French side of the border. Wolves have
since spread to areas such as Lozere, delighting environmentalists, who see the predators’
presence as a sign of wider ecological health. Farmers, who say the wolves cause the deaths of
thousands of sheep and other grazing animals, are less cheerful. They grumble that green
activists and politically correct urban types have allowed the return of an old enemy.

Various factors explain the changes of the past few decades. Rural depopulation is part of the
story. In Lozeére, for example, farming and a once-flourishing mining industry supported a
population of over 140,000 residents in the mid-19th century. Today the department has fewer
than 80,000 people, many in its towns. As humans withdraw, forests are expanding. In France,
between 1990 and 2015, forest cover increased by an average of 102,000 hectares each year,
as more fields were given over to trees. Now, nearly one-third of mainland France is covered
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by woodland of some sort. The decline of hunting as a sport also means more forests fall quiet.
In the mid-to-late 20th century over 2m hunters regularly spent winter weekends tramping in
woodland, seeking boars, birds and other prey. Today the Fédération Nationale des Chasseurs,
the national body, claims 1.1m people hold hunting licences, though the number of active
hunters is probably lower. The mostly protected status of the wolf in Europ —hunting them is
now forbidden, other than when occasional culls are sanctioned by the state—plus the efforts
of NGOs to track and count the animals, also contribute to the recovery of wolf populations.

As the lupine population of Europe spreads westwards, with occasional reports of wolves seen
closer to urban areas, expect to hear of more clashes between farmers and those who celebrate
the predators’ return. Farmers’ losses are real, but are not the only economic story. Tourist
venues, such as parks where wolves are kept and the animals’ spread is discussed, also generate
income and jobs in rural areas.

The author presents a possible economic solution to an existing issue facing Lozére that takes
into account the divergent and competing interests of:

Q.13) Which one of the following has NOT contributed to the growing wolf population in
Lozere?

[A] The granting of a protected status to wolves in Europe

[B] A decline in the rural population of Lozere

[C] The shutting down of the royal office of the Luparii.

[D] An increase in woodlands and forest cover in Lozére.

.14) The inhabitants of Lozere have to grapple with all of the following problems, EXCEPT:
A] decline in the number of hunting licences
B

C] livestock losses

lack of educational facilities

Q.1
[A]
[B] poor rural communication infrastructure
[C]
[D]

Q.15) Which one of the following statements, if true, would weaken the author's claims?
[A] Unemployment concerns the residents of Lozere.
[B] The old mining sites of Lozére are now being used as grazing pastures for sheep

[C] Having migrated out in the last century, wolves are now returning to Lozére

[D] Wolf attacks on tourists in Lozére are on the rise

Q.16) The author presents a possible economic solution to an existing issue facing Lozére that
takes into account the divergent and competing interests of:

[A] politicians and farmers

[B] tourists and environmentalists

[C] environmentalists and politicians

[D] farmers and environmentalists

Q.17) There is a sentence that is missing in the paragraph below. Look at the paragraph and
decide where (option 1, 2, 3, or 4) the following sentence would best fit.
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Sentence: This philosophical cut at one’s core beliefs, values, and way of life is difficult
enough.

Paragraph: The experience of reading philosophy is often disquieting. When reading
philosophy, the values around which one has heretofore organised one’s life may come to look
provincial, flatly wrong, or even evil. (1) . When beliefs previously held as truths are
rendered implausible, new beliefs, values, and ways of living may be required.  (2) .
What’s worse, philosophers admonish each other to remain unsutured until such time as a
defensible new answer is revealed or constructed. Sometimes philosophical writing is even
strictly critical in that it does not even attempt to provide an alternative after tearing down a
cultural or conceptual citadel.  (3) . The reader of philosophy must be prepared for the
possibility of this experience. While reading philosophy can help one clarify one’s values, and
even make one self-conscious for the first time of the fact that there are good reasons for
believing what one believes, it can also generate unremediated doubt that is difficult to live
with.  (4) .

[A] Blank A
[B] Blank B
[C] Blank C
[D] Blank D

Q.18) There is a sentence that is missing in the paragraph below. Look at the paragraph and
decide where (option 1, 2, 3, or 4) the following sentence would best fit.

Sentence: The discovery helps to explain archeological similarities between the Paleolithic
peoples of China, Japan, and the Americas.

Paragraph: The researchers also uncovered an unexpected genetic link between Native
Americans and Japanese people. (1). During the deglaciation period, another group branched
out from northern coastal China and travelled to Japan.

(2) . "We were surprised to find that this ancestral source also contributed to the Japanese
gene pool, especially the indigenous Ainus," says Li.

(3) . They shared similarities in how they crafted stemmed projectile points for arrowheads
and spears.

(4) . "This suggests that the Pleistocene connection among the Americas, China, and Japan
was not confined to culture but also to genetics," says senior author Qing-Peng Kong, an
evolutionary geneticist at the Chinese Academy of Sciences.

[A] Blank A
[B] Blank B
[C] Blank C
[D] Blank D
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Q.19) Five jumbled up sentences (labelled 1, 2, 3, 4 and 5), related to a topic, are given below.
Four of them can be put together to form a coherent paragraph. Identify the odd sentence and
key in the number of that sentence as your answer.

1. In English, there is no systematic rule for the naming of numbers; after ten, we have "eleven"
and "twelve" and then the teens: "thirteen", "fourteen", "fifteen" and so on.

2. Even more confusingly, some English words invert the numbers they refer to: the word
"fourteen" puts the four first, even though it appears last.

3. It can take children a while to learn all these words, and understand that "fourteen" is
different from "forty".

4. For multiples of 10, English speakers switch to a different pattern: "twenty", "thirty", "forty"
and so on.

5. If you didn't know the word for "eleven", would be unable to just guess it — you might come
up with something like "one-teen".

Q.20) Five jumbled up sentences (labelled 1, 2, 3, 4 and 5), related to a topic, are given below.
Four of them can be put together to form a coherent paragraph. Identify the odd sentence and
key in the number of that sentence as your answer.

1. Having an appreciation for the workings of another person’s mind is considered a
prerequisite for natural language acquisition, strategic social interaction, reflexive thought, and
moral judgment.

2.1tis a ‘theory of mind’ though some scholars prefer to call it ‘mentalizing’ or ‘mindreading’,
which is important for the development of one's cognitive abilities.

3. Though we must speculate about its evolutionary origin, we do have indications that the
capacity evolved sometime in the last few million years.

4. This capacity develops from early beginnings in the first year of life to the adult’s fast and
often effortless understanding of others’ thoughts, feelings, and intentions.

5. One of the most fascinating human capacities is the ability to perceive and interpret other
people’s behaviour in terms of their mental states.

Q.21) The four sentences (labelled 1, 2, 3 and 4) given below, when properly sequenced, would
yield a coherent paragraph. Decide on the proper sequencing of the order of the sentences and
key in the sequence of the four numbers as your answer.

1. Algorithms hosted on the internet are accessed by many, so biases in Al models have resulted
in much larger impact, adversely affecting far larger groups of people.

2. Though “algorithmic bias” is the popular term, the foundation of such bias is not in
algorithms, but in the data; algorithms are not biased, data is, as algorithms merely reflect
persistent patterns that are present in the training data.

3. Despite their widespread impact, it is relatively easier to fix Al biases than human-generated
biases, as it is simpler to identify the former than to try to make people unlearn behaviors learnt
over generations.

4. The impact of biased decisions made by humans is localised and geographically confined,
but with the advent of Al, the impact of such decisions is spread over a much wider scale.

Q.22) The four sentences (labelled 1, 2, 3 and 4) given below, when properly sequenced, would
yield a coherent paragraph. Decide on the proper sequencing of the order of the sentences and
key in the sequence of the four numbers as your answer.
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1. What precisely are the "unusual elements" that make a particular case so attractive to a certain
kind of audience?

2. It might be a particularly savage or unfathomable level of depravity, very often it has something
to do with the precise amount of mystery involved.

3. Unsolved, and perhaps unsolvable cases offer something that "ordinary" murder doesn't.

4. Why are some crimes destined for perpetual re-examination and others locked into permanent
obscurity?

Q.23) The passage given below is followed by four alternate summaries. Choose the option
that best captures the essence of the passage.

Manipulating information was a feature of history long before modern journalism established
rules of integrity. A record dates back to ancient Rome, when Antony met Cleopatra and his
political enemy Octavian launched a smear campaign against him with “short, sharp slogans
written upon coins.” The perpetrator became the first Roman Emperor and “fake news had
allowed Octavian to hack the republican system once and for all”. But the 21st century has seen
the weaponization of information on an unprecedented scale. Powerful new technology makes
the fabrication of content simple, and social networks amplify falsehoods peddled by States,
populist politicians, and dishonest corporate entities. The platforms have become fertile ground
for computational propaganda, ‘trolling’ and ‘troll armies’.

[A] People need to become critical of what they read, since historically, weaponization of
information has led to corruption.

[B] Octavian used fake news to manipulate people and attain power and influence, just as
people do today

[C] Disinformation, which is mediated by technology today, is not new and has existed since
ancient times

[D] Use of misinformation for attaining power, a practice that is as old as the Octavian era, is
currently fueled by technology

Q.24) The passage given below is followed by four alternate summaries. Choose the option
that best captures the essence of the passage

Colonialism is not a modern phenomenon. World history is full of examples of one society
gradually expanding by incorporating adjacent territory and settling its people on newly
conquered territory. In the sixteenth century, colonialism changed decisively because of
technological developments in navigation that began to connect more remote parts of the world.
The modern European colonial project emerged when it became possible to move large
numbers of people across the ocean and to maintain political control in spite of geographical
dispersion. The term colonialism is used to describe the process of European settlement, violent
dispossession and political domination over the rest of the world, including the Americas,
Australia, and parts of Africa and Asia.

[A] Colonialism surged in the 16th century due to advancements in navigation, enabling British
settlements abroad and global dominance
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[B] As a result of developments in navigation technology, European colonialism, led to the
displacement of indigenous populations and global political changes in the 16th century

[C] Colonialism, conceptualized in the 16th century, allowed colonizers to expand their
territories, establish settlements, and exercise political power

[D] Technological advancements in navigation in the 16th century, transformed colonialism,
enabling Europeans to establish settlements and exert political dominance over distant regions.
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Faculty members in a management school can belong to one of four departments — Finance and
Accounting (F&A), Marketing and Strategy (M&S), Operations and Quants (O&Q) and
Behaviour and Human Resources (B&H). The numbers of faculty members in F&A, M&S,
0&Q and B&H departments are 9, 7, 5 and 3 respectively.

Prof. Pakrasi, Prof. Qureshi, Prof. Ramaswamy and Prof. Samuel are four members of the
school's faculty who were candidates for the post of the Dean of the school. Only one of the
candidates was from O&Q.

Every faculty member, including the four candidates, voted for the post. In each department,
all the faculty members who were not candidates voted for the same candidate. The rules for
the election are listed below.

1. There cannot be more than two candidates from a single department.
2. A candidate cannot vote for himself/herself.
3. Faculty members cannot vote for a candidate from their own department.

After the election, it was observed that Prof. Pakrasi received 3 votes, Prof. Qureshi received
14 votes, Prof. Ramaswamy received 6 votes and Prof. Samuel received 1 vote. Prof. Pakrasi
voted for Prof. Ramaswamy, Prof. Qureshi for Prof. Samuel, Prof. Ramaswamy for Prof.
Qureshi and Prof. Samuel for Prof. Pakrasi.

Q.1) Which two candidates can belong to the same department?
[A] Prof. Pakrasi and Prof. Qureshi

[B] Prof. Qureshi and Prof. Ramaswamy

[C] Prof. Pakrasi and Prof. Samuel

[D] Prof. Ramaswamy and Prof. Samuel

Q.2) Which of the following can be the number of votes that Prof. Qureshi received from a
single department?

Q.3) If Prof. Samuel belongs to B&H, which of the following statements is/are true?
Statement A: Prof. Pakrasi belongs to M&S.

Statement B: Prof. Ramaswamy belongs to O&Q.

[A] Only statement A

[B] Both statements A and B

[C] Neither statement A nor statement B

[D] Only statement B
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Q.4) What best can be concluded about the candidate from O&Q?
[A] It was either Prof. Ramaswamy or Prof. Samuel

[B] It was Prof. Samuel

[C] It was either Prof. Pakrasi or Prof. Qureshi

[D] It was Prof. Ramaswamy

Q.5) Which of the following statements is/are true?

Statement A: Non-candidates from M&S voted for Prof. Qureshi.
Statement B: Non-candidates from F&A voted for Prof. Qureshi.
[A] Neither statement A nor statement B

[B] Both statements A and B

[C] Only statement A

[D] Only statement B

The schematic diagram below shows 12 rectangular houses in a housing complex. House
numbers are mentioned in the rectangles representing the houses. The houses are located in six
columns — Column-A through Column-F, and two rows — Row-1 and Row-2. The houses are
divided into two blocks - Block XX and Block YY. The diagram also shows two roads, one
passing in front of the houses in Row-2 and another between the two blocks.

Black XX Block vy
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i
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Some of the houses are occupied. The remaining ones are vacant and are the only ones
available for sale.

The road adjacency value of a house is the number of its sides adjacent to a road. For example,
the road adjacency values of C2, F2, and B1 are 2, 1, and 0, respectively. The neighbour count
of a house is the number of sides of that house adjacent to occupied houses in the same block.
For example, E1 and C1 can have the maximum possible neighbour counts of 3 and 2,
respectively.

The base price of a vacant house is Rs. 10 lakhs if the house does not have a parking space,
and Rs. 12 lakhs if it does. The quoted price (in lakhs of Rs.) of a vacant house is calculated as
(base price) + 5 x (road adjacency value) + 3 x (neighbour count).

The following information is also known.

1. The maximum quoted price of a house in Block XX is Rs. 24 lakhs. The minimum quoted
price of a house in block YY is Rs. 15 lakhs, and one such house is in Column-E.

2. Row-1 has two occupied houses, one in each block.
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3. Both houses in Column-E are vacant. Each of Column-D and Column-F has at least one
occupied house.
4. There is only one house with parking space in Block YY.

Q.6) How many houses are vacant in Block XX?

Q.7) Which of the following houses is definitely occupied?
[A] D2

Q.8) Which of the following options best describes the number of vacant houses in Row-2?
[A] Either 2 or 3
[B] Exactly 3
[C] Exactly 2
[D] Either 3 or 4

Q.9) What is the maximum possible quoted price (in lakhs of Rs.) for a vacant house in
Column-E?

Q.10) Which house in Block Y'Y has parking space?
[A] E2
B] F2

[
[C] El
[D] F

A visa processing office (VPO) accepts visa applications in four categories — US, UK,
Schengen, and Others. The applications are scheduled for processing in twenty 15-minute slots
starting at 9:00 am and ending at 2:00 pm. Ten applications are scheduled in each slot.

There are ten counters in the office, four dedicated to US applications, and two each for UK
applications, Schengen applications and Others applications. Applicants are called in for
processing sequentially on a first-come-first-served basis whenever a counter gets freed for
their category. The processing time for an application is the same within each category. But it
may vary across the categories. Each US and UK application requires 10 minutes of processing
time. Depending on the number of applications in a category and time required to process an
application for that category, it is possible that an applicant for a slot may be processed later.

On a particular day, Ira, Vijay and Nandini were scheduled for Schengen visa processing in
that order. They had a 9:15 am slot but entered the VPO at 9:20 am. When they entered the
office, exactly six out of the ten counters were either processing applications, or had finished
processing one and ready to start processing the next.

Mahira and Osman were scheduled in the 9:30 am slot on that day for visa processing in the
Others category.
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The following additional information is known about that day.
1. All slots were full.

2. The number of US applications was the same in all the slots. The same was true for the other
three categories.

3. 50% of the applications were US applications.

4. All applicants except Ira, Vijay and Nandini arrived on time.
5. Vijay was called to a counter at 9:25 am.

Q.11) How many UK applications were scheduled on that day?

Q.12) What is the maximum possible value of the total time (in minutes, nearest to its integer
value) required to process all applications in the Others category on that day?

Q.13) Which of the following is the closest to the time when Nandini's application process got
over?
[A] 9: 45am

.14) Which of the following statements is false?
The application process of Osman was completed before 9:45 am
The application process of Mahira started after Nandini's.
The application process of Mahira was completed before Nandini's.
The application process of Osman was completed before Vijay's.

Five restaurants, coded R1, R2, R3, R4 and R5 gave integer ratings to five gig workers — Ullas,
Vasu, Waman, Xavier and Yusuf, on a scale of 1 to 5.

The means of the ratings given by R1, R2, R3, R4 and R5 were 3.4, 2.2, 3.8, 2.8 and 3.4
respectively.

The summary statistics of these ratings for the five workers is given below.
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Miaan raiing

Bterdinn raling

Mlciclied maifing

* Range of ratings is defined as the difference between the maximum and minimum ratings
awarded to a worker.

The following is partial information about ratings of 1 and 5 awarded by the restaurants to the
workers.

(a) R1 awarded a rating of 5 to Waman, as did R2 to Xavier, R3 to Waman and Xavier, and R5
to Vasu.

(b) R1 awarded a rating of 1 to Ullas, as did R2 to Waman and Yusuf, and R3 to Yusuf.* Range
of ratings is defined as the difference between the maximum and minimum ratings awarded to

a worker.

The following is partial information about ratings of 1 and 5 awarded by the restaurants to the
workers.

(a) R1 awarded a rating of 5 to Waman, as did R2 to Xavier, R3 to Waman and Xavier, and R5
to Vasu.

(b) R1 awarded a rating of 1 to Ullas, as did R2 to Waman and Yusuf, and R3 to Yusuf.
Q.16) How many individual ratings cannot be determined from the above information?

Q.17) To how many workers did R2 give a rating of 4?

Q.18) What rating did R1 give to Xavier?

Q.19) What is the median of the ratings given by R3 to the five workers?

Q.20) Which among the following restaurants gave its median rating to exactly one of the

workers?
[A]R3
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Q.1

If x and y are real numbers such that x* + (x — 2y — 1)* = —4y(x + y), then the value x — 2y is
A

B
C] -
D

Q.2)

A]3 V31
B]3V7
C]2+7

D] 4V'5

Q.3) Let n be the least positive integer such that 168 is a factor of 1134" . If m is the least
positive integer such that 1134" is a factor of 168™ ~then m+n equals

]15

[
[
[
[

Q.4) If x and y are positive real numbers such that logx ( x>+12) = 4 and 3log,x =1, then x+y
equals
[A] 11

.5) The number of integer solutions of equation 2[x|(x*+1) =5x? is
Q.5) g q x|(x™+1)

Q.6) The equation x>+ (2r+1)x>+(4r-1)x+2= 0 as one of the roots. If the other two roots are
real, then the minimum possible non-negative integer value of r is

Q.7) Let a and B be the two distinct roots of the equation 2x*-6x+k=0, such that (a+p)
and o P are the distinct roots of the equation x>+ px+p = 0 . Then, the value of 8(k— p) is
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Q.8) In an examination, the average marks of 4 girls and 6 boys is 24 . Each of the girls has the
same marks while each of the boys has the same marks. If the marks of any girl is at most
double the marks of any boy, but not less than the marks of any boy, then the number of possible
distinct integer values of the total marks of 2 girls and 6 boys is

Q.9) The minor angle between the hours hand and minutes hand of a clock was observed at
8:48 am. The minimum duration, in minutes, after 8.48 am when this angle increases by 50%

Q.10) The salaries of three friends Sita, Gita and Mita are initially in the ratio 5: 6: 7 ,
respectively. In the first year, they get salary hikes of 20%, 25% and 20% , respectively. In the
second year, Sita and Mita get salary hikes of 40% and 25% , respectively, and the salary of
Gita becomes equal to the mean salary of the three friends. The salary hike of Gita in the second
year is

[A] 28%

[B]26%

[C] 30%

[D] 25%

Q.11) A mixture P is formed by removing a certain amount of coffee from a coffee jar and
replacing the same amount with cocoa powder. The same amount is again removed from
mixture P and replaced with same amount of cocoa powder to form a new mixture Q. If the
ratio of coffee and cocoa in the mixture Q is 16: 9, then the ratio of cocoa in mixture P to that
in mixture Q is

[A]5:9

Q.12) Gita sells two objects A and B at the same price such that she makes a profit of 20% on
object A and a loss of 10% on object B. If she increases the selling price such that objects A
and B are still sold at an equal price and a profit of 10% is made on object B , then the profit
made on object A will be nearest to

[A]47%

[B] 49%
[C]42%
[D] 45%
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Q.13) Brishti went on an 8-hour trip in a car. Before the trip, the car had travelled a total of x
km till then, where x is a whole number and is palindromic, i.e., x remains unchanged when its
digits are reversed. At the end of the trip, the car had travelled a total of 26862 km till then, this
number again being palindromic. If Brishti never drove at more than 110 km / h , then the
greatest possible average speed at which she drove during the trip, in km / hr , was

[A] 90

[B] 100

[C] 80

[D] 110

Q.14) The amount of job that Amal, Sunil and Kamal can individually do in a day, are in
harmonic progression. Kamal takes twice as much time as Amal to do the same amount of job.
If Amal and Sunil work for 4 days and 9 days, respectively, Kamal needs to work for 16 days
to finish the remaining job. Then the number of days Sunil will take to finish the job working
alone, is

Q.15) Arvind travels from town A to town B, and Surbhi from town B to town A, both starting
at the same time along the same route. After meeting each other, Arvind takes 6 hours to reach
town B while Surbhi takes 24 hours to reach town A. If Arvind travelled at a speed of 54 km/h,
then the distance, in km, between town A and town B is

Q.16) Anil invests Rs. 22000 for 6 years in a certain scheme with 4% interest per annum,
compounded half-yearly. Sunil invests in the same scheme for 5 years, and then reinvests the
entire amount received at the end of 5 years for one year at 10% simple interest. If the amounts
received by both at the end of 6 years are same, then the initial investment made by Sunil, in
rupees, is

Q.17) Let C be the circle x*+y*+4x-6y-3=0and L be the locus of the point of intersection of a
pair of tangents to C with the angle between the two tangents equal to 60° . Then, the point at
which L touches the line x = 6 is

[A](6,6)

Q.18) A quadrilateral ABCD is inscribed in a circle such that AB CD : 2:1 = and BC AD : 5:
4 = If AC and BD intersect at the point E , then AE CE : equals
12:1

Q.19) In a right-angled triangle D ABC , the altitude AB is 5 cm , and the base BC is 12 cm .
P and Q are two points on BC such that the areas of DABP, D ABQ , and DABC are in
arithmetic progression. If the area of D ABC is 1.5 times the area of D ABP , the length of
PQ,incm,is
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Q.20) The number of all natural numbers up to 1000 with non-repeating digits is

1 == T i
L . f . X ! .
For some postrve and distinct real mombers x, ¥ and z, of ¥+ iz the arithmetic mean of ¥ Xtz and ¥E ¥ then the relationship

whech will alwave hold true, 15

1y X, and z are in arithmetic progression
X y, and z are in arithmetic progression
x,Vzand \'y are in arithmetic progression
x, Vzand \ z are in arithmetic progression

Q.22) A lab experiment measures the number of organisms at 8 am every day. Starting with 2
organisms on the first day, the number of organisms on any day is equal to 3 more than twice
the number on the previous day. If the number of organisms on the n™ day exceeds one million,
then the lowest possible value of n is
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Solutions
1. Correct Answer: D

Explanation:

The options 1 and 4 are not the right choice. As in option A the pair suggests a historical and
thematic connection, as the Indian Ocean world is associated with historical aspects such as
slavery. This pair does not seem to be odd. In option 4, this pair also represents a thematic
connection, suggesting that postcolonial novels often explore anti-colonial nationalism. This
aligns with the passage's discussion of the early postcolonial literature's concern with national
questions.

The lone instance of border crossing in the third one—which we can classify as peculiar—
occurs in the Indian Ocean novel world rather than the Postcolonial novel world.

2. Correct Answer : B

Explanation:

The passage emphasizes that mainstream English-language fiction has historically privileged
certain perspectives and settings. And the exception is statement 3. It supports the passage's
claim by reinforcing the idea that mainstream English-language fiction has a specific focus on
the experiences of a particular group rather than weakening it.

For option 1- This statement weakens the passage's claim because it suggests that Indian Ocean
novels may also have elements of nostalgia, similar to mainstream English-language fiction.
For option, 2-This statement weakens the passage's claim as it implies that Indian Ocean novels
may also fall into the trap of using Orientalist stereotypes, similar to mainstream English-
language fiction.

For option 4- This statement weakens the passage's claim because it suggests that there is a
diversity in settings even within mainstream English-language novels.

The exception is statement 3. It supports the passage's claim rather than weakening it.

3. Correct Answer: D

Explanation:

The passage discusses migration in the Indian Ocean world. Out of all options, 4 is the right
one. As this statement is not true according to the passage. The passage emphasizes that the
Indian Ocean world's migration networks are distinct from the commonly found narratives
centered in Europe or the US. Instead, the novels highlight a largely Islamic space and feature
characters of color, suggesting a different orientation from the global north.

For option 1- This statement is consistent with the passage, which mentions that port cities far
apart were often more easily connected to each other than too much closer inland cities due to
the ease of travel by sea.

For Option 2- This statement is consistent with the passage, which highlights that migration in
the Indian Ocean world was shaped by the religious and commercial histories of the region.
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For option 3- This statement is consistent with the passage, which mentions that migration is
often a matter of force, and travel is portrayed as abandonment rather than adventure.

4. Correct Answer : B

Explanation:

The passage discusses the "remapping" achieved by Indian Ocean novels.

Let's evaluate each claim:

Option 1- This claim contributes to the remapping by suggesting that the novels explore
regional pasts rather than being confined to national concerns.

Option 2- This claim contributes to the remapping by challenging the traditional focus on the
global north and highlighting the global south as the first center of globalization.

Option 3- This claim contributes to the remapping by challenging the Eurocentric view of early
international trade and commerce.

Option 4- This claim does not contribute to the remapping; in fact, it reinforces a Western-
centric view by suggesting that cosmopolitanism originated in the West and traveled eastward.
Therefore, the correct answer is 4.

5. Correct Answer: B

Explanation:

Option 1 accurately reflects the idea presented in the passage. The passage discusses the
development of warm fur clothes among the Inuit and the absence of indigenous farming in
Aboriginal Australia as outcomes influenced by physical circumstances, such as geographic
and biogeographic factors.

While option 2 is partially correct so eliminated. Yet a very close choice.

For option 3 the passage does not explicitly convey the idea that traditional societies,
specifically the Inuit and Aboriginal Australians, were self-sufficient and adaptive despite
geographical isolation.

6. Correct Answer: D

Explanation:

It is not possible to derive Option C directly from the passage. Although the passage does
mention the impact of both geographical factors, such as biogeography, and non-geographical
factors like culture and history on human phenomena, the use of words like 'most' and 'some’
cannot be justified based on the information provided in the passage. Therefore, Option C is
the appropriate choice.

Option 1- This statement is directly supported by the passage. The passage mentions that some
geographic explanations advanced a century ago were racist, causing all geographic
explanations to become tainted by racist associations in the minds of many scholars other than
geographers.

Option 2- There is a discussion that the crops and domestic animals that make Australia a food
and wool exporter are non-native species brought by overseas colonists.

Option 4- The passage mentions that the development of warm fur clothes among the Inuit
living north of the Arctic Circle was not because one influential Inuit leader persuaded others
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in 1783 to adopt warm fur clothes for no good environmental reason. Instead, it attributes the
development to straightforward geographic factors.

7. Correct Answer: B

Explanation:

The passage does not imply that individuals who are not geographers reject explanations that
attribute human behavior to geographical factors. Instead, it suggests that those who are not
geographers often respond to such explanations by denouncing the concept of "geographic
determinism." The reasons for this reaction include a belief in the central role of humans, a
lack of technical knowledge of geography due to disciplinary training, and negative
impressions of past geographic analyses that were considered politically offensive.

8. Correct Answer: B

Explanation:

The passage does not directly condemn non-geographer scholars for possessing outdated
interpretations of historical and cultural events. The primary critiques focus on their
overemphasis on individual choices, labelling of geographic explanations as deterministic, and
refusal to acknowledge the impact of geographic factors, including biogeographic factors, on
social and cultural phenomena.

9. Correct Answer : A

Explanation:

The passage suggests that Sahlins's essay, "The Original Affluent Society," aimed to challenge
contemporary economic life and bourgeois individualism. It held a critical perspective on the
capitalist world's pursuit of wealth through material production and presented foraging
societies as examples of an alternative path. The essay contrasts the desire for more material
goods in the capitalist world with the foraging societies' pursuit of affluence through wanting
less. This aligns with the idea of holding a mirror to an acquisitive society and presenting
alternative ways of living.

10. Correct Answer: A

The passage mentions that, when viewed in today’s context, not every aspect of Sahlins’s essay
has aged well. One of the criticisms is that the essay does not thematize the effects of racism,
colonialism, and dispossession as heavily as might be expected today. Therefore, the critique
is about the essay's treatment of these important issues, suggesting it is cursory or insufficient.
This makes the 3rd as the right choice.
For Option 1,it is not a criticism mentioned in the passage. The passage acknowledges that the
point of the essay is not so much the empirical validity of the data but its conceptual challenge
to contemporary economic life and bourgeois individualism.
Option 2 is not explicitly mentioned as a criticism in the passage. The passage acknowledges
that not every aspect of the essay has aged well but does not specifically criticize it for having
outdated values.
Option 4 also is not mentioned as a criticism in the passage. The passage does mention Sahlins

23




QUANTIFIERS CAT ACADEMY

rebuking evolutionary anthropologists for treating present-day foragers as “left behind” by
progress, but it does not frame this as a criticism of Sahlins.

11. Correct Answer: C

Explanation:

In the passage, the author mentions Galbraith’s “The Affluent Society” in the context of
Marshall Sahlins's essay, "The Original Affluent Society." The purpose is to highlight how
Sahlins's views complement Galbraith’s criticism of consumerism and inequality in
contemporary society. So, option 4 is the right choice.

The passage notes that Sahlins's essay challenges contemporary economic life and bourgeois
individualism. By referencing Galbraith’s work, the author emphasizes that Sahlins's
perspective aligns with the critical stance towards postwar prosperity and inequality presented
by Galbraith. Sahlins's essay, with its title nodding toward Galbraith’s work, brings a critical
perspective to the contemporary world, showing that alternative ways of living exist. It
contrasts the capitalist pursuit of wealth through material production with the idea that foraging
societies achieve affluence not by acquiring more but by desiring less. In summary, the mention
of Galbraith’s “The Affluent Society” serves to illustrate how Sahlins’s views resonate with
and complement Galbraith’s critique of consumerism and inequality in the modern world.
While,

Option 1 is incorrect. The passage does not suggest that Galbraith’s theories refute Sahlins’s
thesis. Instead, it emphasizes how their views complement each other in criticizing
contemporary society.

Option 2 is incorrect. The passage does not suggest that Galbraith's views directly influenced
Sahlins's analysis of prehistoric societies. The mention is about how their perspectives align in
critiquing contemporary society.

Option 3 is also incorrect. While the passage discusses the contrast between contemporary
growth paths and foragers' ways of living, it does not specifically highlight a pacifist content
in foragers' lives.

12. Correct Answer : C
Explanation:

The passage mentions the contemporary Hadza of Tanzania to demonstrate that forager
communities, like the Hadza, were aware of alternatives (such as those of surrounding farmers)
but actively chose to reject them. This serves as an illustration that foragers make real choices
about their ways of living, emphasizing the principle of collective self-determination in
societies. So it makes 4th right one.

13. Correct Answer: C
Explanation:
The passage does not mention the shutting down of the royal office of the Luparii as a

contributing factor to the growing wolf population. Instead, it emphasizes factors such as the
protected status of wolves in Europe, the decline of hunting as a sport, the efforts of NGOs to
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track and count the animals, and the increase in woodlands and forest cover in Lozére.
Rest all options are mentioned in the context so can be eliminated.

14. Correct Answer : A

Explanation:

The passage discusses the decline in the number of hunting licenses and the quieter forests due
to a decrease in hunting as a sport. However, it does not specifically state that the inhabitants
of Lozere are grappling with this as a problem. On the other hand, the passage mentions issues
such as a lack of local schools, jobs, phone and internet connections, and livestock losses due
to the return of wolves. That helps us to conclude that 4 is the right choice.

15. Correct Answer : D

Explanation:

The author's claims in the passage seem to revolve around the conflict between farmers and
environmentalists regarding the return of wolves, with farmers expressing concerns about
livestock losses. If there were reports of wolf attacks on tourists on the rise, it might suggest a
different perspective on the impact of wolves in the area, potentially indicating a more
immediate threat to human safety rather than just concerns about livestock. Only option 4 could
weaken the emphasis on the environmental benefits mentioned in the passage.

Option 1- This statement is not directly relevant to the author's claims about the conflict
between farmers and environmentalists regarding the return of wolves. It doesn't necessarily
weaken or strengthen the main arguments in the passage.

Option 2- This statement aligns with the information presented in the passage and supports the
author's claims about the return of wolves, which is a central theme in the discussion of
conflicts between farmers and environmentalists.

Option 3- This statement is mentioned briefly in the passage, but it doesn't directly relate to the
author's claims about the conflict between farmers and environmentalists regarding the return
of wolves. While unemployment concerns are mentioned, the primary focus is on the impact
of the return of wolves on farmers.

16. Correct Answer : D

Explanation:

The passage does not explicitly mention the divergent and competing interests of specific
groups, but it does provide information that implies conflicts between different stakeholders.
Based on the information provided, the option that best aligns with the potential conflicts
discussed in the passage is the 4th one.

The passage describes how farmers in Lozére are concerned about the return of wolves, as they
claim the wolves cause livestock losses. On the other hand, environmentalists may celebrate
the return of predators like wolves, considering it a sign of wider ecological health. This
suggests a potential conflict of interests between farmers, who are concerned about their
livelihoods and livestock, and environmentalists, who may prioritize the ecological balance.

17. Correct Answer : B
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Explanation:

The sentence "This philosophical cut at one’s core beliefs, values, and way of life is difficult
enough." would best fit at Option B because it logically follows the statement in Option A.
Option A discusses how reading philosophy can make the values one has organized their life
around appear provincial, wrong, or even evil. Following this, the sentence in Option B, "This
philosophical cut at one’s core beliefs, values, and way of life is difficult enough," provides an
explanation and emphasizes the challenging nature of the experience described in Option A. It
helps to convey the emotional and intellectual difficulty that arises when one's fundamental
beliefs are scrutinized by philosophical inquiry.

18. Correct Answer : C

Explanation:

The paragraph discusses the genetic link between Native Americans and Japanese people, the
migration during the deglaciation period from northern coastal China to Japan, and the surprise
that this ancestral source also contributed to the Japanese gene pool. After presenting these
findings, the sentence "The discovery helps to explain archaeological similarities between the
Paleolithic peoples of China, Japan, and the Americas" logically connects the genetic
information to archaeological similarities.

Option 3, which discusses the shared similarities in crafting projectile points, provides a context
for introducing the archaeological aspect. Placing the sentence about archaeological
similarities after this context makes more sense as it elaborates on the shared cultural aspects
mentioned in Option 3.

19. Correct Answer : 3

Explanation:

The theme of the provided sentences except the 3™ one revolves around the irregularities and
complexities in the naming of numbers in the English language. It discusses the lack of a
systematic rule, the specific patterns for teens and multiples of ten, and highlights the potential
confusion that can arise, particularly for learners or those unfamiliar with the language's
numerical conventions. The sentences collectively address the intricacies and variations in how
numbers are named in English. While Sentence 3 shifts the focus to the learning process of
children and their understanding of the differences between numbers like "fourteen" and
"forty'ﬂ

20. Correct Answer: 2

Explanation:

The theme of the provided sentences revolves around the concept of "theory of mind" or
"mentalizing," which is the ability to understand and interpret the thoughts, feelings, and
intentions of others. The sentences discuss the significance of this cognitive ability for various
aspects of human development, including natural language acquisition, social interaction,
reflexive thought, moral judgment, and cognitive abilities. The progression of this capacity
from early beginnings to adulthood is also highlighted, and there is speculation about its
evolutionary origin. Overall, the theme centers on the importance and development of the
ability to wunderstand the minds of others in human cognition and behavior.
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Here Sentence 2 differs from the rest because it provides alternative terms for the concept
discussed in the other sentences. While the other sentences consistently use the term "theory of
mind," Sentence 2 introduces synonyms such as 'mentalizing' or 'mindreading' to describe the
same cognitive ability. This sentence essentially offers different labels for the concept without
introducing new information or aspects of the theme discussed in the surrounding sentences.

21. Correct Answer: 4123

Explanation:

4123 is the sequence that forms a coherent flow, where each sentence logically follows the
previous one, building a comprehensive discussion on the impact and sources of bias in Al
Sentence 4 sets the stage by highlighting the contrast between the localized impact of human-
made biased decisions and the broader impact introduced by Al.

Then sentence 1 builds upon the idea introduced in Sentence 4, emphasizing how algorithms,
especially those hosted on the internet, can have a widespread impact affecting larger groups
of people.

Sentence 2 delves into the distinction between "algorithmic bias" and the actual source of bias,
emphasizing that biases are rooted in the data rather than the algorithms themselves.

Sentence 3 concludes by addressing the relative ease of fixing Al biases compared to human-
generated biases, emphasizing the practical aspect of addressing biases in Al.

22. Correct Answer: 4123

Explanation:

Sentence 4 serves as a general introduction, raising the question about the enduring interest in
certain crimes. Then 1 follows logically from the introductory question, delving into the
specifics of what makes a case attractive to a particular audience. Then the 2nd sentence
provides reasons or factors that contribute to the attractiveness of certain cases, linking back to
the question raised in Sentence 1.3rd further explores the nature of the cases in question,
emphasizing the appeal of unsolved or mysterious cases.

23. Correct Answer: D

Explanation:

The passage discusses the historical aspect of manipulating information, emphasizing that this
practice predates the establishment of modern journalism and rules of integrity. It provides an
example from ancient Rome, where political enemies used a smear campaign against Antony
with slogans written on coins, illustrating the early use of fake news for political purposes.
The passage then transitions to the 21st century, highlighting the unprecedented scale of
information weaponization. It points out that powerful new technology simplifies the
fabrication of content, and social networks play a significant role in amplifying falsehoods
propagated by states, populist politicians, and dishonest corporate entities. The platforms are
described as fertile ground for various manipulative practices, including computational
propaganda, trolling, and the deployment of troll armies. Overall, the passage addresses the
historical roots of information manipulation and its contemporary manifestations with
advanced technology and social media platforms. So the correct choice is option 1.
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24. Correct Answer: D

Explanation:

The passage discusses colonialism as a historical phenomenon, highlighting its evolution and
the factors that led to its transformation in the sixteenth century. It emphasizes the role of
technological developments in navigation during that period, which enabled the connection of
more remote parts of the world. The emergence of the modern European colonial project is
attributed to the newfound ability to move large numbers of people across oceans and maintain
political control despite geographical dispersion. The term colonialism is defined in the passage
as encompassing European settlement, violent dispossession, and political domination over
various regions globally, including the Americas, Australia, and parts of Africa and Asia.
Overall, the passage provides a historical context for colonialism, underlining its earlier forms
and the significant changes that occurred during the sixteenth century due to advancements in
navigation technology. So option 4™ is the correct one.
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DILR

1. Correct Answer: A

After reading the set, we can write following conditions:

- There can be etther 0 or 1 or 2 candsdates form any departmens.

. A candidate cannot vote for humself or herself.

. Faculty members can not vote for candidate from thew own department.

. Non-candidates form same department voted for same candidate.

. There are 9, 7, 5. 3 faculty members in FA. MS, O and BH.

VB QRS recerved 3, 14, 6 end 1 votes.

. There is exacily 1 candidaze form O4).

Since the questions are dubious, we can say there would be at least two cascs.

Gaven Only one candidate 15 from OO0 and there are 5 faculnes from 00 = there are 4 non-candidates froen OO

Alsa, Pvoted for B, Q for 8, B for Q and 5 for P Given thar all non-candidates faculty members from same department votad for the same candidare
B, all 4 non-candidates from OQ can vote for candidates either Q or B

Now P has got only 2 vates fromm non-candidates: From condition 4, these 2 votes can be fromy BH only that implees there 13 one cendidate from BH
B has got 5 votes which can be only from MS because of condition 4 that wplies there are 2 cendidates from MBS

Fumher, it can be determined that there 15 no candidates from FA Q) has got 13 non- candidates” votes: They would be from remaining departmesnts:
FA{M & OQ (5

Now Iet us oy to find which candidate 18 from whach department.

From condition (3), & cannot e from MS. And Simitlarky we can determune for other candidates.

e O L e L b

I\:(ll.t‘tl by candidates  [Voted by Mermbers
P{3) E L (BH)
14y 13 (FAHOQ(3)
R (6) 5 Ms)
B pere

(Oher Candidates
Voted)  [in depi.

A [ () *
[ES ! 15 (R ]
100 ) SALY] PR
[BE [2.(P) RS

Subject

And () has voted for 5. 5o, (} and 5 cannot be in seme depariment. 5o, P 15 definttely one of the candidate from MS.
B has voted for Q. So, R and () cannot be together § has voted for B S0, P& 5 cannot be together. So. In MS. the candidates would be P & (.

IS nbject No.of No. o»_f (Oreher Fandjdales
members candidates [Voted) fin dept.
[Fis i 2 (0} =
IS 5 (B B 0}
18] 5 () RS
[BH 3 1 iP) BN

P & () are from same department.
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2. Correct Answer: D

After reading the set, we can wne followng condmons,

1. There can be eher O or 1 or 2 candidates form any department.

2. A cendidate cannot vote for himself or herself

3. Faculty members can not vote for cendidate from their own department.

4. Non-candidares form same depamment voted for same candidate.

5. There are O, 7, 3, 3 faculty members i EA MS, OQ and BH.

6. P Q. B Srecened 3, 14, 6 and 1 votes.

7. There is exactly 1 candidate form O0).

Since the questtons are dubions, we can say there would be at least two cases.

Grven Only one candidare 15 from O and there are 5 facultes from O = thers are 4 non-candidates from O0).

Alzo, Pvoted for B, O for 5, B for Qand 5 for P Given that all non-cendidates faculty members from same department voted for the same candidate
So, all 4 non-candidates from OO} can vote for candidates esther ( or B

Now P has got enly 2 votes from non-candidares. From condstion 4, these 2 votes can be from BH only that smplies there 8 one candsdare from BH
B has got ¥ votes whuch can be only from M5 becanse of condmon 4 that implies there are 2 candidates from MS.

Further, it can be determuned thae there 158 no candsdates from FA. Q) has got 13 noa- candidates’ votes. They would be from rematning depantments:
FA (D) & OO0 (4)

Now letus try to find which candidate s from which department.

From condition (3}, B cannot be from MS. And Simularly we can detemmune for other candidares.

foted by candidates  [Voted by Members
P3) 3 X (BH)

Qih 13 (FA{S1 -0
R (6) r [ (M)

Bl R

fre1or

pm Mo of Mo, af Oithier (Candidares
ubject members jeandidates {Vored) fin dept.
[FA 1 2X{e]] =
M5 i 5 (R) PGS
5 1
I

&3] H Q) PR
BH o

Ang ) has voted for 5. Se, Q) and 5 cannot be i seme department. So, Pis definstely one of the candidare from MS.
R has voted for Q. So, R and ( cannet be together. S has voted for P. So, P & S cennot be together. So, In MS, the candidates would be P & Q.

Mo, of Mo af Other ICandidates
members pandidates (Voted)  fin depi

[FA B () "
S 7 5 (B g
108G 3 1 [R5
[BH 3 L (F) 5 R

[Subject

Q) etz 9 from FA and 4 from O0). So, answer s 9.




3. Correct Answer: B

Afier reading the set, we can write following conditions.

1. There can be ether 3 or 1 or 2 candidates form any depemment

2. A candidate cannot vote for humsslf or herself

3. Faculty members can mot vote for candidate from thewr own depariment

4 Non-candidates form same department voted for same candidage.

5 There age 9, T, 5. 3 faculy members in FA, MS, O0) and BH

6P Q. B Sreceved 3. 14, 6 and 1 vores.

7. There 1 exactly 1 candidate fiorm 00}

Smee the questions are dubious, we can say there would be ar least tvo cases

Given Only one candidate 13 from O0) and there are 5 faculnes from 00 = there are 4 non-candidates from OC).

Also, Pvoted for R, Q for 5, B for Q and 5 for P. Given that all non-candidates faculty members from same department voted for the same candidate
%o, all 4 non-candidates from OQ can vote for candidates ether G or B

Now P has gotonly 2 votes from nen-candidates, From conditien 4, these 2 votes can be from BH only that implies there 1s one candidate from BH
R has got 5 votes which can be only from M35 because of condition 4 that rmplics there are 2 candidates from M5

Further, 1t can be determned that there is no candidates from FA. Q) has got 13 non- candidates” votes. They would be from remaining departments
FA () & OQ (4)

Now let us try to find which candidate is from which department

From condition (3), B cannot be from MS. And Similarly we can determine for other candidates

‘oted by canddates  [Voted by Members
PE) B [ (RH)

Q04 13 (FALSO0)
[ i8] 5 (MS)

IS (1) ]

S No. of iOther iCandidates
[Subject candidates [[Voted) |in dept.

EA 0 b Q) -
S B S(R)  POS
) L] PRS
[BH ] RS

And () has voted for 8. Se, () and 5 cannot be i same deparmment. So. P s definately one of the candidate from MS.
R has voted for (). So, B and () cannot be together S has voted for P So. P & 5 cannot be together. So. In M5, the candidates would be P& ()

No. of ™o, of her Candidates
members jcandidates [Voled)  in depi.

0 cRe)] g
FR PG
1 B BB
1 2 (P} SR

[Subject

Both statements are true.
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4. Correct Answer: A

After reading the set, we can write followng condimons.

1. There can be etther 0 or 1 or 2 candidates form any department.

2 A condidare cannor vote for himself or herself

3. Faculry members can not vote for candidate from thesr own depantment.

4. Non-candidates form same deparment voted for same candidate.

5. There are 9. 7, 3, 2 faculty members i FA M5, (4} and BH.

6. PO R Srecerved 3,14, 6 and 1 wotes.

1. There 15 exactly 1 candidate form OQ.

Smnce the questions are dubtows, we cen say there would be at least two cases.

Geven Only one candidare 15 from OC) and thers are 3 faculties from O0) = thers are 4 non-candidares from O0).

Also, P yvoted for B, Q) for 5. R for () and S for P Gaven that all non-candidares faculiy members from same department voted for the same eandadate.
o all 4 nen-candidates from O can vote for candidatas either ( ar B

Now P has got only 2 votes from non-candidates. From condition 4, these 2 votes can be from BH only that unplies thers 15 one candidate from BH
F. has got 3 votes which can be only from MBS becanse of condinon 4 that implies there are I candidates from MS.

Fuither, it can be determimed that there is no candrdates from FA Q) kas gat 13 non- candidates’ votes: They would be from remainng depamments
FA(R) & 0Q ()

Now let us try to find which candidate 15 from wihich deparment.

From condimen (3}, B cannot be from MS. And Stmilarly we can determune for other candidates:

oted by candhidates  [Voted by Members
E)] (* (BH)

) 13 (FA(D)-OQ(D)
R (6) 5 s)

5 (1) ern

Mo, of (Dher ICandidates
eandidates [[Voted)  in dept,

FA B B Q) P
i B N E
00 1 H (O PRE
B 1 TE)  ROS

Subject

And () has voted for 5. So. {J and § cannot be m same depariment. So, P is definitely one of the candidate from MS.
R has voted for 3. So, B and ) cannot be together. S has voted for P So, P& 5 cannot be together. So, In M5, the candidates would be P& ().

Mo of No. of (Dither ICandidates
bers candidates |[Voted) |in dept

FA 7 P |+

SE] i 5 (R} P.Q

00 5 () B8

BH 2 (P} SR

Subject

It was either Prof. Ramaswamy or Prof. Samuel.
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5. Correct Answer: B

After reading the sef, we can write followmng conditions.

1. There can be esther (o 1 or 2 candidates form any department.

2 A candidate cannot vote for hemeelf or herself.

3. Faculty members can not vote for candidate from thesr ovwn department

4. Non-candidates form same deparmment voted for same candidate.

5 There are 9.7, 5. 3 facubly members in FA. MS, O and BH.

6. P Q. R 5 recerved 3, 14, 6 and 1 votes.

1. There 18 exactly 1 cendidate form O}

Smee the questions are dubious, we can say there would be af least two cases.

Given Only ohe candsdate 15 from OQ) and there are 5 faculties from 00 = there are 4 non-candidates from (0.

Also, Pyoted for B, Q for 5, R for @ and 5 for P Gaiven that all non-candidates faculty members from same department voted for the same candidate
Sa, all 4 non-canchdates from OQ can vote for comdidates either Q or R

Tow P has got only 2 vores from non-candidstes. From condition 4, theze 2 votes can be from BH only that tmplies there 15 one candidate from BH
R has pot 5 votes which can be omly from M3 becanse of condition 4 that ooplies there are 7 candidates from MS

Further, it can be determined that there 15 no candidates from FAL Q has got 13 non- candidares” votes. They would be from remaimng departrmients
FA (91 & OQ (4)

Mow let us by 1o fmd which candidate is from winch department

From condition (1), B cammaot be from M5 And Smmbarly we can determne for other candidares

foted by candidates  [Voted by Members
P37 & U {BH)
Qi R 13 (FALT D00
Ri6) P & (5)
5 (13 L} Zern

Mo, of ™o, of Dither ICandidates
icandidates fVoted) | depd.
[FA 1 L)) =
S ] 12 5 (R} PO
1
1

[Subjeect

] Q) RS
BH 2 (P} RQ5

And Q bas voted for 5. 5o, Q and 5 cannot be in same department. So, P 15 definitely ons of the candidate from MS.
B has voted for Q. So, B and (} cannot be together. S has voted for P So, P& 5 cannot be together. So, In M3, the candidates would be P& Q.

Mo, of Mo, of Dither ICandidates
members [candidates [Voted) |in depi.

[FA o (0 =
S ] b (R} E.Q
100 H (0 'S
BH 3 2 (P} 5 R

[subject

Only statement (B) 15 true
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6. Correct Answer: 3

Hlnr_‘c XX Block VY
A; By € Road Dy E B
A B G Dy B B

Road

We cen detenmune followmg by readmg the set:

1. Row 1 has two pceupied houses one 1n each block means one out of Ay By C) 18 oecupied One out of I, By F; 15 aceupred
Also, it means 4 are vacant.

2.Ej and E; are vacant.

3 The costeliest house (vacant) in block = 15 worth 24 lacs

4 The chezpest house (vacant) m block vy 1= worth 15 lacs
3 Ome out of By or By 18 of worth 15 lacs
4. There 15 only are howse with parking space in block vy
Let a=road adjacency value
Let b = neighbor count.
Where a=0/12
Where b= 0123
There can be 2 possibiities for the house worth 24 lacs:

Case 1: - A house has parking space:
Quoted price =12 + 3z + Ib=124
=ja+3b=12
The cnly possible solunon s a=0b=4.
Butb can’t be 4 as maxamwin no. of neighbors can be 3.

Case 2:- House has not parking space.
Cuoted price = 10+ 5a +3b=24
=sa+3b=14
+a=]b=3
It means the house has 1 roads adjacent and 3 neighbours 1.2, occupied houses.
The only possibility 1s B
S0, we can determine By is vacant and seorth 24 lacs. Also Az, By and Cs are snoccupied
From eondition (1), we can say Ay & C; are unoceupied.

Block 330

\

Cy

W = pecupied
Cz = = Unoccupied

i
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For Block Y'Y
Both E| and E; are vacant
By condition 4, esther price of By or E; 13 15 Lars

Twe cises arise

Case 1: If E; 1s of 15 Lacs.

Road adjacency vilue =0

If this house has nio paking space then

0+35%0+3b=15

= 3b = 5 Mever possible

If E; has parking space,

12+35=0+3b=15

=3ip=3=bh=]

Means Eq has one oceuped nesghbormg house. E; 15 already vacant. So, It can be ether [ or Fy. S0, there would be 2 possihilmes

& = H
D, | E | Fy E,

" N =

F; 2 | Ez

Case 1:

IfE; 1s of 15 Lacs.

We already know a=1.

If E; has parking space

12+ 5 =1+ 3b=15 = 3b=- 2 (Not possible)

If B has no parking space

W+5x1+3b=15=b=0

Means D,, Ej anel Fy are vacant

[hat implies D1 & Fy are occupied by condition that column [V and column F has at lzast one occupied house. But 1t 15 a contradiction to condition 1.

S0, this 15 an mvalid case.

Answeris 3.

7. Correct Answer: C
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Block XX | ) Blck Y'Y
A By T Foud Dy Er By
A B: C- D; E: F

Road

We can determane followmg by reading the set:
1. Row 1 has two occupied houses one in cach block means one owt of Ay, By, C; 18 occupied. One out of Dy, Ey, Fy 18 occopied
Also, it means 4 are vacant
2.Ej and E; arc vacant
3. The costaliest house (vacant) m block 30t is worth 24 lacs
4. The cheapest house (vacant) i block vy is worth 15 lacs.
3. Dne out 0f Ep o1 E5 19 of worth 15 lacs.
&, There'is anly are house with parking space in block vy
Let a = read adjacency value
Let b = neighbor count
Where a =012
TWhereb=017275
There can be 2 possibilities for the house worth 24 lacs

Case 1: - A house has puking space
Chusted price = 12 + Sa+3b =24
=5a+ibh=12
The only possible seluttonisa=0.b=4
Butbean't be 4 a5 maximum no: of neighbors can be 3.

Case X House has nod parking space
Quoted price= 10+ fa+3b =21
*5a+3b= 14
=a=1k=3
It means the house has 1 roads adjacent and 3 neighbours e occupaed houses
The only possibility 15 By
Se, we can determune By 1s vacant and worth 24 lacs. Also &-. By and C» ars unoccupied.
From condition (1), we can say A & C) are unocoupied

Block X3
v b

By Cy

¥ = occupled
Ba Ca % = Unoccopied

{24L) = Y

Fuor Block YY:
Both Ey and 5 are vacant
By condition 4, either price of E; or E; 15 15 Lacs.

T cases arise

Case L 1{E) 15 0f 15 Lacs

Road adjacency value = 0.

1£ this house has oo parking space then

W=5x0=-3b=15

= 3b = 5 Never possible,

If E) has parking space

12+5x0+3b=15

=3ib=3i=bk=1

Means E| has one oceupied neighbormg house Ej 15 already vacant So, It can be erther D) or Fy. So, there would ke 2 possibilines

Case 2:

IfEs is of 15 Laca.

We already know a=1.

1f B has parking space

12+ 5= 1 + 3b =15 = 3b =- 2 (Mot possibiz)

If B> has no parking space:

0e5=x143b=15=2b=0

Means D5 E; and F; are vacent.

That implies D1 & Fy arz occupisd by condmon that column DY and column F has at lzast onz occupizd house. But it 15 a contradiction 1o condition 1.

5o, this 15 an invalid case

B iz defimitely occupied
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Correct Answer: B

Block XX Block YV
Ar By C; Read Dy E;  F;
A B G : E F

Road

We can determune following by reading the set:

1. Row 1 has two occupred houses one i cach block means one out of 4y, By, Cy 15 ocoupied. One out of Dy, By, Fy =5 occupied
Alse it means 4 are vacant

1 E; and E; are vacant

3. The cosmeliest houss (vacant) i block xx is worth 24 lacs.
4. The cheapest bouse (vacant) i block vy 15 worth 15 lacs.
3. One our of E or Ex 15 of worth 15 lacs.
6. There is only are house with parking space in black vy
Let a = road adjacency valops
Let b = nerghbor cowtin
Where a = 0/12
Where b=0/1/2/3
There can be 2 possbilities for the house worth 24 lacs:

Case 1: - A house kas parkang space:
Quoted price =12+ 5a+3bh=14
=5a+3ib=12
The only possible solution s a =0, b= 4
Bt b can’t be 4 as maxomiwm no. of neighbors com be 3

Case 2:- House has not parknig space.
Crooted price = 10 + 52+ 3h =24
=5a+3b=14
=a=1b=3
Tt means the house has | roads adjacent and 3 neighbows 1# ocoumed houses
The rm!'g.' pﬂ'isa:ll'.riﬁh_. s B:
So, we can determane By 18 vacant and worth 24 lacs. Also A5, By end Cs are unoccupied.
From condition (1), we can say Ay & C are unoccupied.

Hlock XX

o

W

B 3

W = eccupied
B, Cs x = Unoccupaed

(24L)» | W
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For Black YY:
Both Ey and E; are vacant.
By condition 4, either price of Ey or Ey is 15 Lacs

Two cases arise:-

Case 1: IfE; 15 0f 15 Lacs.
Road adjacency value = 0
1 this hovse has no parking space then
D+53=x0+3b=15
# 3b = 5 Never possible
If E; has parking spacs,
IZ2+3x0+3b=15
¢ibm3mbal
Means Ey has one oceupied neighbormg house. B 15 already vacant. So. It can be either Dy or Fy. 5o, there would be 2 possibilines

F E;
h =
Fa e

Ca

1FE; is of 15 Lacs

We already knowa =1

If E4 has parking space:

[2#3= 1 +3b= |5 = 3h 2 (MWt possibbe)

If E+ has no parking space:

W+5x]+3bhmlimbul

Means Dy, Ej and Fy are vacant.

That implies DI & Fy mre ocoupaed by condition thae column D and column F has at l=ast one occupiad house But it 35 8 contradiction o condition 1

S0, thus 15 an wnvahd case.

Expertly 3.

9. Correct Answer: 21




QUANTIFIERS CAT ACADEMY

Block XX Block VY
Ar Br €1 Road D7 Er B
Ay By Ca D: Ex Fa

Road

We can determine followring by reading the ser:
1. Row 1 has two occupied houses one in each block means one out of Ay, By, Cy is occopied. One out of Dy, Ey, F| 18 oceupicd
Also, it means 4 are vacant
E and E; are vacani
The costelieat house (vacant) m block sox 18 wornth 24 lacs
The cheapest house {(vacant) m block yv s woath 15 lacs
One out of Ey or E; 1 of worth 15 lacs
6. There s only are house with parking space in block vy
Let 2 = road adjacency value
Let b = peighbor conmt
Where a=0/1/2
Where b= {1273
There can be 2 possibilities for the house worth 24 lace:

Case 1: - A hoose has parking space:
Cuoted price =12 + Ja = 3h =24
=5a+ =12
Ihe only possble sclubons a=0. b=4.
But b can't be 4 a3 mawimum no. of neighbors can be 3.

Case 2:- House has not parking space.
Quoted price = 10+ Ja+ 3h=24
=Ja+3b=14
=a=1l.b=13
Tt mezans the house has | roads adjacent and 3 neghbows 12 ocoupied houses
The enly possibality is B
So, we can determune By s vacant and worth 23 lacs. Also Ay By and O are unoceupusd.
From condition (1), we can say Ay & € are unoccupied.

Hlock XX

Ll

Ty

v = oconpied
G | * = Unoecupied

W

For Block YY:
Both E; and E; are vacant.

By condition 4, etther price of B or By is 15 Laes

Twao cases arise:

Case 1: IfE 15 of 15 Lacs.
Road adjacency vahe= 0
TF this hotise has no parking space this
W+35=0+3b=15
5 3b = 5 Never possible
IfEq has parking space,
12+53=0+3b= |5
53hm I mbm]
Means E; has onc occupied neighboring house. Ey s already vacant. So, It can be erther Dy or Fy. So, there would be 2 possibilities

h x 1
Dy |E | Fy
T = =

D | B | 2

Caze 1t

HE;of 15 Lacs.

We already knowa =1

If E; has parking space

12+ 5% 1 +3b=15 = 3b=-2 {Not possible)

If E5 has no park:ng space

W+53=1+3=13=0b=0

Means Dy, By and Fy are vacant

That unplies D1 & F; are occupied by condition that column I and column F has at least one occupied house. Dot it 12 a contradiction to condition 1.

Sa, this is #n invalid case

Miazimumn possihle quoted price = 10+ 3= ] +3 =2 = 2] Lags

10. Correct Answer: C




QUANTIFIERS CAT ACADEMY

Block YY
Ty E, T,
D; Ei B

Road

We can determinge followng by reading the ser
1 Row | has two oceupied houses ome m each block means one out of Ay By, C) is oecupied One out of D, By, F s ocoupied
Also, it means 4 arc vacant.
2 E and E, are vacant.
3 The costeliest house (vacant} in block xx is worth 24 lacs
4. The cheapest house (vacaot) in block yy is worth 15 lacs
5 Cne out of E; or Bz ts of worth 15 lacs
6. There 1= only ar= house with parking space i block v
Let 2 = road adjacency value
Let b = neighbor count.
Whers 2 =0/1/2
Whers b=0/123
There can be 2 possibilities for the house worth 24 lacs:

Case 1: - A kouse has parking space:
Quioted price =12 + 32« =24
=3a+3bh=12
The only posstble solunon s a=0.b=4,
Butb can't be 4 as maimnm no. of neighbors can be 3.

Cage 2:- House has not parking space
Quioted prece = 10+ 3a+3h =24
*5a+3bh=14
=a=1b=3
It means the house has 1 roads adjacent end 3 ncaghbours 1.c. occupied houses.
The only possibiliny s By
S0, we can determune B, is vacant and worth 24 lacs. Also As, By and €y ars unoccupied
From cotidition (1), we can sav Ay & Cj are unoccupied

Block 30X

"

By 3

¥ = occupied
B: [= < = Unocrupied
(2aL)= |+

For Block YY:
Both Ej and E+ are vacant,
By condition 4, either price of E| or E1 58 13 Lacs

Two cases anse:-

Case 1: IfEy 150f 15 Lacs.
Road adjacency value = 0
11 this house has no parking space then
W+5=0+3bulj
# 3h = 3 Never possihle
IfEy has parking space,
1245=x0+3bwm]5
¢ihmimbe=]
Means Ey has one occupied neighbonng houss: Ej 1s already vacant. Se, It can be either Dy or Fy. So, there would be 2 possibilities

R
gl
D'l

Case 2t

HEymwof15 Lacs.

We abready knowa=1

If E; has parking space

12+ 5% 1 +3b =13 = 3b=-2 {Not possible)

If E; has no parkang space

1045=143=13=0b=10

Means D, Eg end Fo are vacant

That tmplies D1 & Fj are occupied by condition that column D and columa F has at least one occupred houwss, But if 15 2 contradiction to condition I
Sao, this is &n mvalid case

Maximum possible quoted price = [0+ 5= 1 +3 =2 = 21 Lacs




QUANTIFIERS CAT ACADEMY

11. Correct Answer: 0

Ghiven slots are twenty 15 minutes slots staring at 9AM and ending at 2PM. Then applicanis are scheduled in cach slot.

Total mumber of applicants = 10 = 20 = 200

Mo of US applications = 5% of Total

= 0% of 200 = 100

Since the number of US applications was the same i all slots.

So, US applications in cack skot = % =5

It 15 grven that L V and N were scheduled for Schengen visa processmg 1o that order. Therr slot was 9:15 AM. It means the number of shengen
applicants in cach slot 1s at least 3.

Stmalarly, it 5 grven that M and O were scheduled m the 9:30AM slot in others catzgory. So, the mumber of applicants i other category i cach slot s

at least 2.
Since the number of applicants m cach slots 1s 10. So, 1t can be inferred that oumber of Schengen and others applicants is 3 and 2 respectively. Hence

the mumber of UK applicants is 0 in each slot.

Toral number of counters = 10
US counters = 4

UK counters =2

Schenpen counters =2
Others counters = 2

Given that TS and UK application requres 10 mins of processing time.

Vijay was called af 925 A M. (5% in line).

It 18 posstble 1f processmg trme for Schengen viaa 13 125 mins On a particuler day, I 'V and N were scheduled for Schengen visa processing in given
order. They had 9:15 AM slot bur entered at 920 A M when they entered VPO, exactly 6 out of 10 counters were either processing applications of
had fimished processmg ones and ready to stant processing the next Hence at .20 A M. there are exactly 4 free connterz. Out of these 4 free countera,
2 would be UK and 2 would be others.

5o, for US {Processing time w8 10 mina) slots counter-wise are,

Cy - 9:10,9:20, 9:30, 9:40, 9:55, 10:10, 10:20
G :9:10, % 835 945 9:55_ 10:10

Cy %10, 9:23, 9:40, 9:50, 10:00, 10:10

Cy 210,925, 940,955, 1005, 10:15

For others {3 mins}) slots are
C1-— 905, 520, 3
G2 —.0:05, 920 93

0 18 the pnswer,




QUANTIFIERS CAT ACADEMY

12. Correct Answer: 200

Grven slots are twenty 15 punutes slos startng at 84 % and ending at 2BM. Then applicanrs are scheduled m each slot
Total aumber of applicants = 10 = 20= 200

No. of US applications = 507 of Total

= 30% of 200 =100

Since the pomber of US applications was the same 10 all slots.

S0, U'S apphcanons m each slot = % =5

Tt is given that T, V and N wers scheduled for Schengen visa processimg m that ardsr Their shot was 9 15 AM To means the number of shengen
applicants in each slot is at least 3

Similarly, it is given that M and O were scheduled in the 9 30AM slot in others categary. So, the number of applicants in other category in each slot is
At beast 2

Since the number of applicants in each slots i 10 So, it con be inferred that number of Schengen and others applicants 15 3 and ? respeetively. Henee
the nurnber of UK appheants is 0 m each slot

Total number of counters = 10
TS counters = 4
UK courters = 2

Schenpen counters
1

-

Oibiess counters

Given that US and UK applicaton requares 10 mins of processimg tims

Vijay was called at 9:25 A M. (5% i lLine)

It 18 possible of procesaing time for Schengen visa 1 125 mmns. On a particular day; [ V and N were scheduled for Schengen visa processing i given
order. They had 9:15 AM slot but entered at 920 A M. when they entered VPO, exactly 6 out'of 10 counters were either procesang appheations or
had finmshed processing ones and ready to stert processing the next. Henee ag 9:20 A M. there are exactly 4 free counters. Out of these 4 free counters,
2 wounld be UK and 2 would be others.

So, for US (Processing tne 13 10 mins) slots counter-wise are,

Cp - 910, 9:20,9:30, 940, .55, 10.10, 10:20
€72 9:-10. 9:25, 9:35, 045, 855 1010

Cy - 0-10, %25, 9.40, 9:50, 10:00, 1010

Cy - 9210, 8:25, 9:40, 9235, 10:05, 10:15

For Schengen visa (12.5 mins) slots are

C1-9:12.30, 9:25.9:3730
€2:9:12.30,9:32.30; 9:45
For others (3 mins) slots are
€1 — 905, 8:20, 9:35
C2— 9:05,9:20, 4:35

For the others, the time taken to process ars application s 5 mans. Time taken to process 40 applications 15 40 = 5 = 200 mins_




QUANTIFIERS CAT ACADEMY

13. Correct Answer : A

Given slots me twenty 15 mmutes slots startng ot 3AM and endmg at 2PM Then applicants ire scheduled m each sl
Total number of applicants = 10 = 20= 200
Mo, of US apphcatons = 50% of Total
309 of 200 = 100
Smee the number of TS applications was the same wn all slots
100
-
20
It 15 given that I V and N were scheduled for Schengen visa processing in that order. Their slot was 2:15 AM Ti means the number of shengen
applicants m each slot 1s at least 3.

%0, US appheations m each slot

Similarly, it is given that M and O were scheduled m the 9:30AM slot in others category. 5o, the number of applicants in other category in each slot is
at least 2.

Since the number of applicants m sach slots is 10 S0, it can be infermred that mamber of Schengen and others applicants is 3 and 2 respectively. Hence
the number of UK applicants 1= 0 in each slot

Total number of counters = 10
US counters = 4

UK counters = 2

Schenpen counters = 2
Others counters = 2

Chrven that US and UK application requires 10 mins of processing time

Vijay was called at 925 A M. (3% in lme).

It 13 possible of processmg tune for Schengen wsa 12 12.5 mans. On a parbicular day, L V and N were scheduled for Schengen visa processing m given
order. They had 9:15 AM slot but entered st 20 A M when they entered VPO, exactly & out of 10 cowrmers were either processing spplications or
had finsshed processing ones and ready to start processing the nexe Henee at 9:20 A M. there are exactly 4 free coumers. Our of these 4 free counters,
2 would be UK and 2 would be others.

Sa, for US (Processing time 18 10 mins) slots counter-waae are,

Cy: 210,920,930, 940, 9:55, 10:10, 10:20
Cy : 9:10, 9:25,9-35, 945, 9:55, 10:10

€4 :9:10, 9:25,9:40, 950, 10:00, 10:10

Cy o910, 9:25.9:40, 9:55. 10:05. 16:13

For Schengen visa (12.5 mins) slots are
C1 91230, 9:25 93730
C2:9-1230. 93230, 945

Fer others (5 mins) slots are
Cl— 905,920,933
C7— 005 970,935

Nandini"s application is 6th w Schenpen application. 5o, her process will end at 945 AM True




QUANTIFIERS CAT ACADEMY

14. Correct Answer : B

(nven slots are twenty |5 minwes slots staning at 9AM and ending a1t 2PM Then apphicants aré scheduled m each slot
Total mernber of applicants = 10« 20 = 200
Mo of US applications = 50%% of Toaal

0% of 200 = 100
Since the number of S applications was the szme in all slol:
100 _
20
It is given that I, V and N were scheduled for Schenpen visa processing m that order. Their slot was 9:15AM. It means the number of shengen
applicants in cach slot is at least 3

5

So, US apphcations m each slod

Similarly, it is given that M and O were scheduled in the 3 30AM =lot in others category. Se, the number of applicants in other category in each slot 1=
atleast 2.

Since the mumber of applicants in each slots 15 10 So, 1 can be inferved that number of Schengen and others applicants 15 3 and 2 respectively. Hence
the number of UK applicants i 0 i sach slot

Total number of counters = 10
175 counters = 4

UK counters = 2

Schengen counters = 2

Others counters = 2

Gaven that US and UK apphication requires 10 mins of processing time

Vijay was called at 9:25 A M. (Sﬂ’ 11 bmer}

It 18 poszible if processme time for Schengen visa 18 12,5 mins On a pamicolar doy, 1 V and N were scheduled for Schengen viss processng i grven
arder. They had 135 AM slot but entered at 9:20 A M. when they etrered VPO, exactly &out of 10 counters wege egher processing applications or
had fimshed processing ones and ready to-stert processing the next. Hence at 9:20 A M there are exactly 4 free counters. Out of these 4 fige counters,
2 weuld be UK and 2 would be others.

Sa, for US {(Processing nme 13 10 mang) stors countes-wase are,

Cy - 9:10,9:20, 330, 9:40, 9:55, 10:10, 1020
C;-910,925,9.35, 945,955, 10:10
Cy o010, 9225, 5:40,9:50, 10:00, 10:10

Ca - 900, 9:25, 9:40,9:35, 10:03, 10:15

For Schengen viza (12.5 mans) slots are
C1:9:12.30, 9:25.9:37.30
C1:9: 0, 93230 9:45

For others (3 puns) slots are
C1 — 9:05, 9:20, 9:35
C2 — 205,520, 9:35

Option 3) the process for O was completed befors 9:45 A M. Troe

Opticn 25 The application process for Mahira started after Nandini's. For Mahira, starting time s 0:30 A M,
So, for Nandini, starting time iz 9:32.30. False.

So, option 2 is answer.




QUANTIFIERS CAT ACADEMY

15. Correct Answer: D

Given slots are twenty 13 munutes slots starting at $AM and ending at JPM. Then applicants are scheduled i each slot.
Total pumber of applicams = 10 = 20 = 200

No. of US applications = 50% of Total

= 30% of 200 = 100

Since the number of US applications was the same o all slots.

JL
0

It 25 grven that 1T Voand N were schedoled for Schengen visa processmg m that order. Thetr slot was 9:15 AM It mesns the mumber of shengen

applicants i each slot s at least 3

%o, US applicatons i each slor=

Sumlarly, at 15 green that M and O were schednled m the 9-30AM slot i others category. So. the number of applicants i other category i each slot1s
at least 2

Smee the nomber of applicants m each slots 13 100 5o, 1t ean be mferred that number of Schengen and others applicarts 1z 3 and 2 respecnvely. Hence
the number of UK applicants 13 0 in each slot

Toral number of counters = 10
US eounters = 4

UK counters = 2

Srhengen counters = 1
Orthers counters = 2

Griven that TS and UK application requrres 10 mins of processing tims

Viay was called ar 9:25 A M. (3% in lme).

It 1= possible of processmg teme for Schengen visa 15 125 mans. On a particolar day, L W and N were scheduled for Schengen visa processing i given
order. They had 915 AM slot bur entered ot %:20 A M when they eatered VPO, exactly 6 our of 10 counters were either processing applications or
had finished process:ng ones and ready to stan processing the nexr. Hence ar 9:20 A M. there are exactly 4 free counrers. Onr of thess 4 free counters,
2 would be UK and 2 would be others.

S0, for US (Processing tme 18 10 mins) slots counrer-wise are;

€y - 9:10, 9:20, 9:30, 9:40, 9:55, 10:10, 10:20
€y 910,925,935, 945,955, 1010

€5 9:10, .25, 9:40, 8:50, 10:00, 10:10
Cy:9:10.9:25 940, 9-35 10:05, 10:15

For Schengen visa (125 mins) slots are
C1:9:12.30, 9:25.9:37.30
C2:9:12.30, 9:32.30, 9:45

For others (3 mins) slots are
Cl— 905 9:20, 935
G2 — 905, 9:20,8:35

From the slots, we can see that the first slot took 20 mms to complete, and after that the remaiming 19 slots took 13 mins cach to complete the US
application process

So, Total time taken =20 + 15 = 19 =303 mins.

Hence end time will be = % AN + 303 Mins = 2:05 PAML




16. Correct Answer: 0

To solve ths sei, following defimtions we nesd to know
i Sum ot'. b
no. of fams
Median = muddle valoe after arranging the data in ensher ascending or descending order.
Mode = the mumber which is appearing highest mumber of times
Rarge = Maximum number — Minimum number
By using Mean formula; we can calculate total of all ratmgs grven by all restaurants to each worker
For Ullas, U=22=35=1
V=38=x5=10
W=34=5=17
X=36=5=18
Y=26=5=13
For Ullas, median rating 15 2 Le. middie most mting is 2. S0, myo lowest ratmgs are £2 Also, mode 15 2. It means there should be atleast two 2510
ratings. Range = 3. That means Max mting — Min. mting = 3. R awarded rating of 1 10 17 Means maximum rating ¢an be 4 onlv. S0 far we have
deducted 4 ratings of 1 and they are gre 1,4, 2. 2 Since toal 12 11. So. all ratmes are 1, 2.2, 3. 4
For V. 1otal 13 19. If we give 3 ranng every ngne we wall get total of 200 It means ranngs age 2, 4, 4 4, 3 (Because range 15 3.)

For w, Simuilarky we can say, ranngs are 1.2 4. 5.3
For x, raungs are 1, 3.4 5. 5

For v. there are two modes 1 & 4 If mesns 1 and 4 will occur atleast twece. 5o, retngs are 1.1, 3 4. 4.

By =By, =B; =B, =B, where B; = ratungs

MNow Let us try to find a link between workers and restanrants

B R By

U 2
vV 2
W 3 1 5 2 42
X 34 k] ] L34 1754
ki A 1 34 13N
Total 5 4=3=17]2 2=5=11[3. 28=3=14 17

Swce total of ratmgs grven by B3 10 19 It 18 posssble only if remarning ratings are 4 & 4. Becange afl 5% are nged.
Let us thank, for B4

Posable ratnngs are 2, 4, 2/4, 1734 or 344

Towml= 14

S0, possible cazsesare 2.4 2 3 Jor2 4.4 1.3

But by putteng X, 4, 2, 33, the table 18 not sansfied.

5o, now we can make a new tahle:

el

[F]

LA e

e | = | FS




QUANTIFIERS CAT ACADEMY

17. Correct Answer: 0

To sobve this set, following definttions we need to know-
Sum of dems
Mean - —M ———
no of gems
Median =muddle value after aranging the data in erther ascending of deseending ofder.
Mode = the number which 13 appearing hughest mumber of nmes
Range = Maxgmim nuaber — Mmimum aomber
By using Mean formula: we can calculate tofal of all ranngs grven by all restaurants o esch worker
For Ulles. U=22x5=11
V=38x5=1%
W=34=5=17
X=36=x3=18
¥Y=26x3=13
For Ullas. median rating 13 2 18 middle most ratmg is 2. So, two lowest ranngs are £ 2. Also mode 18 2 It means there should be aflesst two 273 m
raumgs. Range = 3. That means Max rating — Min, rating = 3. R awarded rating of 1 to U, Means maxiumum rating can be 4 cnly. So far we have
deducted 4 ratings of U and they are are 1, 4.2, 2. Suncetotalys 11, S0, all ratmps are 1,2, 2, 2, 4.
For V. total 1s 19 If we give 3 ranng every tume we will get total of 20. Iy means ranngsare 2, 4.4, 3, 5. (Because range 15 3.)

3.
3

For w, Similarly we can say, ratings are 1. 2, 4, 5, 5.
Forx ramngs arc 1,3, 4.3, 3.
Far v, there are two modes 1 & 4. It means 1 and 4-will oocur atleast teice. So, ratmps are 1,1, 3,4, 4,

By =By =By <B, < By where B, = ratings 1

-]
¥
==
n

Y L

Lh

Ll B R B LR

b

Now Let us try o find & link between workers and restausants

=
b

Ry | Rs
2 7
4 5

24 2

T

I YT Y

5 B=o=190 8=5=14] 1)

Total
11
12
T
I8
13

| 2
" 5
Gl &

dalin|nfn] =

e B

A=

T
F
Toral 4=5=17

ol 1 Y S )

=
[
£
I
L

Smee total uf:alm;:s _y_i-.'t-'n h\' R3m: ]g. Tt s p-::l:.:lh]t- |.1|:||1.' :ifu-m::m:iny rabhnmgs are 4 & § Becauseall 5's are el
L=t us think, for B4,

Possihle ratings are 2, 4, 24, 134 ar 344

Total = 14

So, possible casesare 2.4, 2, 3, 3or 2, 4,41, 3

Bhuut by putlmng .'-'.. 4, 2. ':ll 2. the table 15 not satisfiad

S0, now we can make a new table

v

Y PSP PR P -

Ans sl




18. Correct Answer : 3

To solve thiz se, following definiiions we need (o know
_ Sum of dems
no. of gems
Median = middle value after arranging the data in either ascending or descending order.
Mode = the npumber which is appearing highest nember of tunes
Range = Maximum nomber — Minsmum sumber
By vamng Mean formula; we can caloulare total of all ratings grven by all resraurants to each worker.
For Ullas, U=22x53=11
V=38x5=18
W=34=5=17
K=38x5=18
¥=26=5=13
For Ullas, median rating 15 2 ve. muddle most rating 15 2. So. tovo lowest ratings are £ 2. Also, mode 15 2. It means there should be atleast too 2's m
ratings. Range = 3. That means hMax ratng — Man rating = 3. Ry awarded ratmg of 1 to U. Means macomum ratmg can be 4 anly. So far we have
deducted 4 ratings of U and they arcare 1, 4, 2. 2. Since total 15 11. So, all ratmgs are 1. 2,2, 2, 4
For V. total is 19. If we give 5 rating every time we will get total of 20. It means atings arc 2, 4, 4. 4. 5. (Becauss range s 1)

For w, Sumularly we can say, ranngsare 1, 2,4, 5, 3.
Forx ratings are 1, 3, 4.5, 5.
For v, there are two modes 1 & 4, It means 1 and 4 will occur atleast rwice. So, ranngsare 1, 1, 3,4, 4.

By =By =By < By <B; where B, = ranngs

-—'HF'-J-I-\-PJ.F

MWow Let us iy 10 find a lmk betwesn workers and restmmrants

Rg

134 5 1734
E] ETT ETT
Total(3. 4=5=1 72 2=3=111. 2 Bx5=14 17

5]
v 3
W 3 4 42
X

Y

Simnce tomal of ratings piven by B2 15 19 It 18 possible only if remaimng ranngs are 4 8 4. Because all 5's are used.
Let us thunk, for B4;

Possible ranngs are 2, 4, 24 1734 or 3404

Total = 14

So_poszible casespre 2 4. 02 3 3er2 4.4 1 3

But by putming 2. 4, 2 3, 3, the table 13 not satiafied

S0, now we can make 8 new table

&

L] ralualea

Ansis 3




19. Correct Answer: 4

To zobve thes set, following definons we need 1o know:
Sum of mems

Mean = -

no of fdmns

Median = middle value after arranging the data in eather ascending or descending order

Muode = the number which 15 appearing highest number of imes

Range = Maximum number — Mimimum number

By using Mean formula; we can calculate total of all ratings given by all restavrants to each worker

Far Ullas, U=22=5=11
V=38=3=1]
W=34= 1
X=36=5=18
Y=26=5=13

Far Ullas, median rating i 2 1.¢. middle most rating 15 2. 5o, two lowest ratmgs ars £ 2. Also, mode is 2. It means there should be atleast two 25

ratings. Range = 3. That means Max rating — Min_ rating = 3. Ry awarded rating of | to U Means maximuom rating can be 4 only. 5o far we have

deducted | ratmps of 1 and they are are 1,4, 2, 2 Bince otal 1= 11 5o, all ratmps are 1, 2,2, 2 4

For WV, jotal 15 19 I we pive 3 rating every twme we will get total of 20 Tt means matngs are 2, 4,4, 4, 5 (Because ramge 5 3 )

For w, Sunilarly we can say, ratingsare 1,2, 0, 5,5

For x, ratmgsare 1,3,4,5, 3
Faor v, there are two modss 1 & 4. Tt means | and 4 will occur afleast twice. So, ratings are 1, 1, 3, 4.4

By <= B; =Bz = By < By where By = ratings 1

&

] o

el

20. Correct Answer: C




To solve this set, following definimons vwe nesd to know:
Sien of tems

" oo of gems
Median = muddle value afier arranging the data m cithes ascending of descending order
Mode = the number which 15 appearing highest number of nmes
Bange = Mamumum sumber = Mimmum number
By using Mean formula; we can calculate total of all ratngs geven by all restaurants to each worker.
Eor Lllas, I=271=5=11

V=3E=5=13

W=34x5=17

X=36=3=1E

=14x5=13

For Ullas, median rating 15 2 1.0 nuddle most rating 15 2. So, two lowest ratings are £ 2. Also, mode 15 2. [t means there should be atleast two 2'3 10
ratings. Range = 3_ That means Max rating — Min rating =3 R; awarded rating of 1 to U Means maomom rating can be 4 only. So far we have

deducted 4 ratings of U and they areare 1, 4, 2, 2. Smee total 15 11, So. all ratings are 1, 2, 2. 2, 4.
For V, tomal is 19. If we give 5 rating every ume we will get total of 200 It means ratinps are 2, 4, 4, 4, 5. (Because range 15 3.)

by

For w. Simularly we can say, rebngs are 1. 2,4, 5. 5.
For x, ratings are 1, 3,4, 3, 5.
For y. there are two modes 1 & 4. It means 1 and £ wll occor atleast twice. 5o, mtmgsare 1, 1,3, 4. 4.

By<B:<B;<B;<B;where B, = atings 1

Now Let us try to find a link between workers and restavrants.

Rs Ralings
2

134 |134
4 i EIE ERE
Total|3 4=5=172 2=3=113 8=5=192 B=3=14] IT

1,
3 | 2444,
24 | %2 ]1.2.4.5,
1,:
1,

Since total of ranngs grven by B3 15 19 It is possible only if remaining ratings are 4 & 4, Because all 5's are used,
Let us thunk, for B4,

Possible ratings are 2,4, 24, 134 or 342

Total = 14

So, possible casesare 2,3, 2.3, Sor2, 4,4, 1.3

But by putting 2, 4, 2, 3, 3, the table 15 not sansfied.

So, now we can make a new table:

LN
—r

Ry median = 4 (piven twice) {1, 3, 4,
R median = I (gven nwnce) {1, 1, 2,
By median = 4 (grven twice) (1, 4.4, 5
Ry median = 3 (gaven once) {1, 2, 3, 4,
R madian = 4 {grven twice) (2, 2, 4, 4,

So, answer 15 Ry

)
1+ 1 L
=BT ET




QUANTIFIERS CAT DEMY

Quant

1. Correct Answer : A

X v {1—2}'—1]: = -dyixty)

% = ey (x-2v-17 =0

o+ Ayt i (x Dy 1 =0

ey P+ (- 2v- 1% =0

As both of these are square, so they none of thern could be negatmve
In order to make the sum as Zero, they must be individually zero
Assuch (- 2y—1¥=0=x-2v-1=0=x2y=1 5o, answeris 1.

2. Correct Answer: B

VEx + 9 Er — 9=3022)
VEx + 95 —9=0+32
voxr 4+ 9—/5x — ‘?=\lﬁ+vﬁ

Here we can observe dhfference berween 4/5x + 9 and 4/Bx — 9 alio 36 and /18 s same
From here we can equate,

Yax +9 =36

50, ¥xt9=38

10+ 8 =63

V10 19 =453

Viox +9 =37

3. Correct Answer: A

Solotion: Firstly domg prime factorizatuon

168=2* %3l w7l

M3 =2t =347l

The least positive meeger value of o in 11345 to make it a factor of 168
1134% ) 168

We need atleast 2° m mumerator, so minimum value of o must be 3.

1134 7= =312 =78

168=2% w3lu 7!

The least positive integer value of m in 1687 to make it a factor of 11347

We nead atleast 3% i numerator, so minimom vales of m muost be 12
Finallem + n=12 +3=15

4. Correct Answer: C

Log . f:u::—[."_] 4

L!?—I:}) = x4

ol D A

Hoxi 12=0

(-4 xi+3) =0

F=damdx’ =3

Here %= cannot be nepative so rejecting -3.
=4

x=2andz=-1

Nomw again x 15 in the base here, so 1t cannot be negative. As such x = -2 rejectsd.
Fipally we get. x=1.

Further we are given,

Slog, x=1

Cube on both sude, we gat
E=y
Finally, x+y =2+ 8=l
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5. Correct Answer: 3

Tajx’ 4 D =5x"
Lety=1|xf

3
Y =%
rewrtiing the equaton

TR 2

Iy + IS5y

we can cancel v from both the sides, means x=0
we are left with

we need integral value, so leaving 102,

We have v=0_2

means x =0 and 2

30 x can have 3 values ve. @, 2. -2, So 3 values.

6. Correct Answer: 2

(2= 1+ = T+ 2=0
Here the product of all three roots =da=-2
Orne of the roots 15 given as -2
So, product of two roots, a®bh =1
a0 we can conclude b= 1/a
Now sum of all the three roo =-bla
a+lla-Z=+2+1)
a+lia=-Ir+1
we know that. value of a + 1/a lies berwees: -2 and 2
we can conclude
2=a+la=1
=2=-h+1=12
Adding 1
i =13
Dhviding by 2
3I2= a= 3

mulirplving by -1

3= r= 32 So mummumn possible non negative miegral value will be 2

7. Correct Answer: 6

Sum of roots = -b'a

at+f=3

and product of roots ts=c/a
a*f=K2

Far the second squation,
Sum of roots, a4 p+a*f=-P
34+k2=-P

Product of roots, (o + f* e = f=P
J*E2=P

Solving these two, we pet

K=-31

P=-94

Salving 8K - PY=8[-3/2 - {94 =6

The answer wall be &

8. Correct Answer: C
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Let marks of each girl = g and marks of each boy = m

agt6h) I0=2

jp+6b=240

2p+3b=120—(1)

Given, marks of any gul is al mest double the marks of any bov ie g =2 b{max)
bt marks of any zirl 15 not fess than the marks of any boy 1e. g = b {mun)
pusting max and min valos of 7 in equation {T) , we get

atp=2b 4b-3b=120=0b=1714
meg=b2b+3b=120=b=04

wensedtosolve fim 2 g+ 6b

atp=2h db+6b=10b=10=<1714=171 4
atp=hblb+6b=8b=5~24=192

So value range for 172 ull 192 total 21 values

9. Correct Answer: C

Using the formula fon anele bepween the hands of clock
g=MIZ-30H

g = Angzle between the two hands

H = Positon of hour hand mdnally

M = Position of Minute hand lasily

At B:48

q=48= 112 - 30x & = 14 degree increasing 74 by 30%, we get = 36 degree
trme betweets B and 9 the hands of a clock make dn angle of 36 degree
q=MI12-30H

H=M11/2-30= 8

m = 552/11=350{2/11)

Difference m manures = 50 (2/11) - 48 = 24711

10. Correct Answer: B

Ratio of the salanes of Sita, Gita and Mita ss prvenas 5:6: 7

After respective hike of 2070, 25% and 20%, it becomes =6: 7.5: 8.4

The second vear, after Sita and Mita g2t salary hikes of 40%0 and 25%, respectively, we get =84 = 103,
Now given, the salary of Gita becomes equal to the mean salary of the three fiends which is ==
Bd+x= 1053 =xn

x=043

Salary of Gita moreases fom 7 5 0 945, so percentags increase will be = (945 -7 5)' 7.5 = 100 = J6%

11. Correct Answer: A

The ratic of coffes and cocoa in the mixture ) 15 16 ;9. Means rano of final to total coffes = 16:23
Bw applying the formula for repeated micture,
16 11 — Imict'nﬂu:]:
9 L total
reken Our L 1
raral 5
Tt means, in frst go, 15 of coffee 15 replaced be cocoa powder and mosecond go, 13 of maxture was replaced by cocoa powder
coeo m mixhoe P 15
Hl“! [ae mst ] :.ll “lixll“f‘ Q i.‘ﬂ o g:l-;
ratwo of cocoa m mixiure Pio that m mextwe O s (15) (8725 = 59

12. Correct Answer : A

let C1 of first = a and CD of second = b
Profic of 20% on a:

SPoffustwillbe =128

Loss of 10%% on second

SPof second will be =09 b

51 of both 13 same

1la=08b

or08%b=12a

to'have a profit of 108 onbmeans 1.1 b
when08b=12a

then 1.1 b=1466a

that means a peofit of 47%: on first object &4




QUANTIFIERS CAT ACADEMY

13. Correct Answer : B

Lets gpo by options,
Option 1,
26862 — 8«80 = 26222 {Not a palindrome}
2,
26862 — 830 = 26142 {Not a palindrome)
26862 — 8110 = 25980 (Not a palindrome)
Option 4,
16862 ~ 8100 = 26062 (2 palindrome)
Cogrect answer to the question must be pption 4.

14. Correct Answer: 27

Kamal fakes twice as much time as Amal to do the same amount of job.

50, if one day work of Amal i5 "2a’ then one day work of Kamal will be 'a’

Let one day work of Sunil be 'x’

Now, amount of job that Amal, Sumil and Kamal can mdraidually do in a day, are inharmenic progression
S0 2x=12a+1/a

==43a

Means, one dav wark of Sunil 15 *4/3a°

Amal angd Saumil work for 4 days and 9 days, respectively, Kamal needsto work for 16 days to fimish the remaming job
means total work will be =8 a+12a+ 16a=382a

Turme taken by Sunil 1o fnish the job working alome = 36/ (4 3a) = 27 days

Coarect answer to the gquestion st be 27 davs

15. Correct Answer : 972

55, =+ ThTa

| 2k
5% o |
= V()

5,=17

Total distance = 54 < &+ 27 = 24 = 977 kin Comect answer o the guestion must be 977

16. Correct Answer: 20808

Let minal nvestment made by Sond be “x
As compounded half-yearly, time becomes 12 and rate becomes 2% for Anil and turie becomes 10 and rate becomes 2% for Suml.

220001 0212 =100 2 1.1
x= 20808 Correct answer to the question must be 20808,

17. Correct Answer: D
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Fram esquation,

oA Gy - 3=0

We can conclude that centre of carele wall be at { -2.3 )
Badms =16 [(-2)°+ (37" =(-3]

Radms =l~lﬁ =4

In tnangle APC,

LA =00

LAPC =30

LACP =60

Az AC 15 4, then CF will be 8

For point P. x coordinate is given as 6
Applying distance fermula,

[ P +y-y, Pl =2

putting xy =2 3 and x),v; = Gy

we gef v =3.

Cosrect answer to the guestion must be (6.1)

18. Correct Answer: C

In triangle AED and triangle BEC

ADAE = ACBE {engle by same arc)
2ADE = #BCE (angle by same arc}
S0 riangle AED and traengle BEC are sinilar
AEBE=ADBC=DECE=435 -1}
Sumalarly, triangle AED end triangle BEC will be samalar
AHED =AHDC =BETCE=21 - (1}
from (1) and (11}
AE:CE=E3.

19. Correct Answer: 2
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Hrrc- the ht-i y_hl of all the 3 L'rianyle-s are HlLl:l;_ £
area wall be dependent on base
Given, AABC 15 1 3 tirnes the aren of AARP

A

1z

Solength of BC=15 8P

BP=8

BC=12{ Given )

BPE. BQ and BC are m arsthmetic progressiod.
BQ={E8+1)!2=10

Py =10 =8 =21 Cogrect answer to the question muast be 2.

20. Correct Answer: D

Considering all single digt number =4 sumbers

Considering 2 digs sumber = _ =

Firat place can be filled m 9 ways becavss cannot teke zero.

Second place can be filled in % wavs because repetitron oot allowed.

=9-0 =48] numbers

Considenng 3 dipit number = = =

Firet place can be fill=d in 9 wavs becauss cannot take zero.

Second place can be filled in 9 wayve because repetition not allewed.

Third place can be filled i & ways because repetition not allowed.
Gx0 = B = 58 numbers. Toml = 9+ 81 + 648 = 718 numbers

21. Correct Answer: A

U+ oz )+ 1 e \‘-"1.- 1=‘--‘i¥u"_1- +4z)

(VE-vZH (a2 (W5 ey =207 =)V (v-2

now goang by options, usime option 1

when v, %, z are in arithmetic progression, x-2 will be d, x-y wall be — and v-z will be 2d
{vx-vz)d+ W+ fyrrd =20y —vE)i2d

(¥x-E) - W+ Jy) =y =7

Jy == Jy—4z

it means this 15 satisfied. Correct answer fo the question must be option 1.

22. Correct Answer: 19

No. of organisms on first day = 2, Second = 3x2+3 =7, Thud =7 = 2+3 =17

Forth=17 =2+ 53 =37 Fifth=37T =2+ 3=77

Sph =77= 2 +3 =157

Seventh=15T= 2 +3=317

When vou look carefully vou will reatize, after 7 steps there is WO much mmpact of =3 so we can consider that after ceventh term it only becomes
double

So considermg a GP wath first term a =157, r =2 and T = 10,00,000

awill be 12. So total it must be 7 = 12 =190 to0m . Correct answer 1o the guestion st be 19
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